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means / mis-behaviour will be registered against him / her, in addition to lodging of an FIR with the
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3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
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4. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the
University Website immediately after the conduct of Entrance Examination. Candidates may raise
valid objection/complaint if any, with regard to discrepancy in the question booklet/answer key within
24 hours of uploading the same on the University Website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no complaint in any case, will be

considered.
5. The candidate must not do any rough work or writing in the
may be done in the question booklet itself. Answers must not be ticked in the d
6. There will be no negative marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR A_nswer-Sheet will be treated
as incorrect answer. ‘ :

~ 7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet. .
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minutes after starting of the examination.
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1. When the data is collected by invigilator from the place of origin is called .......ccoo. -

(1) Secondary (2) Primary

(3) Secondary and Primary (4) All of the above
gﬁﬁawﬂﬁﬁﬁ%m%ﬂmmm%a’r@ .......... BT ST
> |

(1) wEAtaE (2) STIEER

(3) HTefE AT grEHE (4) IUAH A

2. The primary data is collected by using the method :
(1) Questionnaire and Schedule method
(2) Observation and Interview method
(3) None of the above
(4) All of the above
m%mmwmmmmm%?
(1) weAmEe 3T argg=n fafe
(2) SaAERT 3T WETEHT fafer

(4) I9q<H A
3. What will be the first step for data presentation ?
(1) Categorisation (2) Tabulation
(3) Both (1) and (2) (4) None of these
o1 WRe & fag gear =T F BT 7
(1) EHTT (2) ERONHIIT
@) (1) R @I (4) 3% & HS TS
4. Which of the following is not used for data-collection method ?
(1) Participant observation (2) Unstructured interviewing
(3) Research questions (4) Postal survey questionnaires
Wﬁﬁ%ﬁﬂ-m%a—mﬁfﬁ%mm 7&F fean T ® 7
(1) SREET STEE (2) IrEfE Areehl
(3) FIHIH "L (4) STh FaEToT EESIEN
PG(Hons.)-EE-June, 2023/(Econemics (Hons.) Five Year)(SET-X)/(A) ~P.T.O.




5. Which of the following is 70

PG(Hons.)-EE-June, 2023/

t a type of purposive sampling ?

(1) Probability sampling (2) Deviant case sampling

3) Theoretical sampling
Wﬁ@ﬂﬁﬁ%-w@a@mmmaﬁ%?

(1) SRRl THATR T (2) faafea @men AR

(3) Jzifis TLAHTT (4) T ALATHLOT

Histogram can be drawn with the help of :

(1) Discrete frequency distribution (2) Continuous frequency distribution
(3) Cumulative frequency distribution (4) Relative frequency distribution
et = gerEdn § @ ST dhdT B

(4) Snowball sampling

(1) rEad TgRT &Rt (2) Fdax amgf faaeer
(3) d==it gy faaer (4) |ey gy faaTer
The cumulative frequency distribution graph is called :

(1) Histogram (2) Frequency polygon
(3) Pictogram (4) Ogive

o SRR S WE HEACT ©

(1) STEarE= (2) g FHA

(3) R (4) QT

A circle in which sectors represents various quantities is called :
(1) Histogram (2) Piechart

(3) Frequency Polygoﬁ (4) Component bar chart
@qﬁmﬁm@gﬁmwﬁmqﬁﬁﬁama,mﬁz
(1) SrEare (2) urg =

(3) STgRT FEHA (4) FAAE qX a1

graphically the :

jistogram can help in finding
(4) All of the above

Data represented through a h

(1) Mean (2) Mode (3) Median
mmaﬁﬂ%mm%aaﬁmm%anmmﬁ@ﬁﬁmmmk;
(1) HATEA (2) SETH (3) wifeasht (4) Iaqws G

(Economics (Hons.) Five Year)(SET-X)[(A)



i 10. Pie-diagram is used for:
1 (1) Comparing different components and their relation to the total

(2) Representing qualitative data in a circle

(3) Representing quantitative data in a circle

(4) (2)or(3)

S-S T ST T ST §

(1) fafs= geeht & gormr ok |l & @ ST Hag
(2) g9 H IONHb BT H AR B

(3) g H HETHS S FH A HeT

4) (2 = ()

11. Which of the following is a characteristic of a mean ?

(1) The sum of deviations from the mean is zero

(2) It minimises the sum of squared deviations
-(3) Itis affected by extreme scores

(4) All of the above

frfafaa & @ HF-81 71em ) RAQdwar & 7

(1) 71 & == @ e g 8 .

(2) I8 ghaT fTaea= & ANT & HH BT

(3) TE =RA TR F 7T &er B

(4) SU<H G
12. What is the mean of the following numbers : 23, 45, 87, 40, 50 ?
(1) 49 ' (2) 34 (3) 56 (4) None of the above
FiciRe weamad @1 mreg s/r ¥ ¢ 23, 45,87, 40, 50 ?
(1) 49 . (2) 34 (3) 56 (4) ST & q FE &

13. Which one of the following statements best describes the mode measure ?

(1) It gives us the most common score in a data set, which will change if you
rearrange the scores in any order.

(2) 1t gives us the most common score in a data set, which will not change if you
rearrange the scores in any order.

(3) Itis always greater than or equal to the mean of a data set.
(4) None of the above

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)
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A

’ Frefatea A BT HUA qEAH G FH FAR 3 aotey et B 7
q) @% 8% 3= ¢ A wEA W < X B, o PR o mn B ERT A
FE I FEA S
(2) a8 &% 3 |E ¥ qud A @ ar B, o fed@ o @A A R A
gredaRed F I FAE TG |
(3)qggﬁsn%aéz%mw@mm:m%mmmr%v
(4) sades F J B T
14, .ccenrssnereees is most frequently observed data value.
(1) Arithmetic Mean (2) Mode
(3) Median (4) All of the above
.......... qd o SR 3@ S aren 3¢ ° B
(1) SFHIORI AT (2) ST
(3) =fezEnT (4) ITA<H G

15. If the values of two variables move in the same direction, the ..........c.... .
(1) The correlation is said to be non-linear
(2) The correlation is said to be linear
(3) The correlation is said to be negative
(4) The correlation is said to be positiye
aﬁ&raﬁ%mqméﬁﬁwﬁaﬁa%‘,a ........... |
(1) Wﬁaﬁﬁ?—mmm%
() gegsd B W FHeT AT B

16, .ooceinieninienn helps us find out percentage change in the values of different variables
over time. :
(1) Dispersion (2) Corre?anon
(3) Index numbers (4) Price index

........... gﬁw%ﬁmﬁﬁﬁaﬁ%@ﬁqﬁsmqﬁaéﬂwqmwﬁ

(1) BT _ (2) TEEET
(3) gIBiHh &Y (4) g DD

17, ccvvneeneneee is the percentage ratio of the value of a variable in the current year to its

lue in the base year.
por iy (2) Simple index

(1) Price relative i : '
(3) Linear index (4) Complex index kv

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)
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e E gD
S ....wmaéﬁga%w%%qaﬁqﬁaﬁfﬁ@at%rﬁqw
: i STIA R | .
(1) o9 He ¢ (2) GrEReT gEhich
(3) IaH GIehich , (4) STfesl Gkl

18. Which of the following is/are the feature(s) of index numbers ?
(1) Index number measured relative changes
(2) Index number is a quantitative expression

(3) Index number show changes in terms of averages
(4) All of the above

Rrfifaa & & Si-ars goehie deret @ fadear 8/2 7
(1) gahih T&AT AT |9eT qiec

(2) GBI TEAT AAHS SR &
(3)Wmm%wﬁﬁqﬁaﬁ:rﬁ@ﬁr%

(4) SUUH Gl |

19. Read the following statements given below and choose the correct alternative :
Statement 1 : The consumer price index helps in the formulation of price policy.
Statement 2 : The consumer price index does not measure the real value.

(1) Both are correct

(2) Both are incorrect

(3) Statement 1 is correct and statement 2 is incorrect
(4) Statement 1 is incorrect and statement 2 is correct -

ﬁ%mmﬁaﬁ’fﬁtﬁqaﬁ'{aﬁﬁwwwaﬁm

HET 1: SUARDI T GaHieh g Al & AT § Heg e 2
FIT 2: wﬁwwwwﬁmg@aﬁﬂﬁw%

(1) ==t @&t &

(2) A T &

(3) FHIF (1) & T X HUA (2) T B

(4) HIT (1) T & 3N HIH (2) T '

20. Which of the following is/are the method(s) of constructing index numbers ?
© (1), Simple aggregate method
(2) Simple average of price relative method

(3) Weighted average of price relative method and weighted aggregate method
(4) All of the above :

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A) P.T.O.




ﬁaﬁﬁi@ﬂﬁﬁaﬁﬁwﬁﬁ%g@@ﬂ#ﬂaﬁﬁ%m%/%?

(1)_~mpr3€aﬂ1%®r ‘
(2)@@&%&@%3%
(3)@@&%@@1%@6%@@%%

(4) ITAH gl

21. Gossen's First Law is S
(1) Law of Diminishing Marginal Utility
(2) Law of Demand
(3) Surplus of the Consumer
(4) Law of Equi-marginal Utility
A B e R T e |
(1) STEAE G ST =
(2) =T et A
(3) SRRt T SAAAT
(4) A=A Suafen @ A
92, Characteristic of utility is /are that .......... :
(1) Utility is subjective
(2) The utility is a relative concept
(3) The utilityisa psychological phenomenon

(4) Allof the above
SUARET @ LT BT/ERE oo |

23. Abilityof a good to satisfy the human want/desire is .....ccceeeees X
(1) Satisfaction (2) Productivity (3) Profitability (4) Utility

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)
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When income of consumers rises, they reduce their consumption of .

(1) Normal goods (2) Giffen goods
(3) Inferior goods (4) All the three
s Sqsreret @ ord ¥ ghs el B, @ & ool L., 61 ITG FH
HT A B
(1) | aEGL 2) PP aegyd
(3) =fean AR (4) | @t
Which approach is used to measure the elasticity of demand ?
(1) Point Method (2) Percentage or Proportionate Method
(3) Total Expenditure Method (4) All of the above
mi & A @AY & R Bea gResor @ SadeT R o 7
(1) Rig fafer (2) wferere @ smgaTfers fafer
(3) B = fafy (4) SUh Ao
The ordinal utility concept express the utility in terms of :
(1) Level of satisfaction (2) Constants
(3) Units (4) None of these
Wmaﬁmm&mﬁwwwﬁm%:
(1) &gfe H & (2) Rt
(3) eIl e (4) T & B T

When the price of commodities "' declines than increase in demand for goods "Y',
both goods are :

(1) Substitute goods (2) Complementary goods

(3) Not related (4) Competitor
Wer@'X'a%aaqaaﬁ%é’ra@'Y'aﬁrﬁmﬁqﬁaaeﬁ%,aﬁa@i%:
(1) T TR (2) T TG

(3) wsfa et (4) wferarh

Why are indifference curves convex to the origin ?
(1) Two goods are perfect complementary goods.
(2) Two goods are imperfect substitutes.

(3) Two goods are perfect substitutes.

(4) None of the above

nomics (Hons.) Five Year)(SET-X)/(A) ' P.T. O.




mﬂﬂaﬁﬁﬁgaﬁaﬁra%ﬁa%%?
@ & T T o aegd a2
(g)aa@ﬁa@w%l
(3)eﬁa@3r§’rwmm:f%|

(4) ITH T B TR

29. A consumer reaches the point of equilibrium when :

(1) MRSxy >Px/Py (2) MRSxy < Px/Py
(3) MRSxy =Px/Py (4) None of these
T ST Sged @ g I Ige ® 5
;; (1) MRSxy > Px/Py (2) MRSxy < Px/Py
(3) MRSxy = Px/Py (4) 379 J Fg TSI
:‘ 30. A shiftin budget line, when prices are constant, is due to:
(1) Change in demand (2) Change in income
(3) Change in preferences (4) Change in utility
W%Wwﬁww%@ﬁwww%:
(1) |FT T aRaH (2) o F e
(3) adarstt # gfRad (4) ST # qREcT
31. Short-run production function shows the functional relation between .............
short period. |
(1) Cost and revenue (2) Materials and matters
(3) Input and output (4) Functions and equations
ST SaEd Bad 918 §9Y Gt | PR & = Bruras ddd
91T ®
(1) arFE AR Ao (2) ErFET SR A
(3) T AR TSI (4) B AR FHBT

32. Which of the following is not considered production in Economics ?
(1) Tilling of soil by farmers (2) Singing a song before friends.
(3) Construction of Canal by laborers (4) Painting a picture for sale
PriET § @ frY ordlemes § Swes 7@ I S © 7
1) FFERT gy B & S (2) ST B FEA TET AT
(3) TR ERT AR 1 FATT (4) Rt & fe &= s

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)
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33.

34.

35.

PG(Hons.)-EE-]une, 2023/(Econo

Economies of scale means increasing production with .......... per unit.

(1) Increasein total cost (2) Decrease in average cost

(3) Decrease in marginal cost (4) Decrease in total cost

ATy Ay oreferawen @ ot SwET gfE B T oo it g 8|
(1) H& AEE 7 I (2) ofvem T F

(3) Ewid ArE # B (4) T @8 F HH

Variable costs are :

(1) sunk costs

(2) multiplied by fixed costs

(3) costs that change with the level of production -

(4) defined as the change in total cost resulting from the production of an additional
unit of output

qREdE @ © x

(1) S A . | ‘s;
(2) frfyea @ & I

‘(B)HFTHG?TW%W%WW%

(4)Wm%w%qﬁunmq@amaﬁrwﬁaﬁﬁ%mﬁ
Qe fRaT T © i

If the short-run average variable costs of production for a firm are rising, then this
indicates that ' :

(1) average total costs are ata maximum.

(2) average fixed costs are constant.

(3) average variable costs are below average fixed costs

(4) marginal costs are above average variable costs.
Hﬁi@ﬁwﬁ%ﬁmw@?ﬁmﬁuﬁaﬁﬁsﬁamaﬁﬁa@@%ﬁr
ae aeiar ¥ 1% '

p.T.O.
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36. Opportunity cost of an unemployed youth in past now getting job worth Rs. 7500/-
per monthis ................ ;

(1) Nil (2) Infinite (3) Rs. 7500 (4) Negative
eq?ﬁﬁﬁa'awam,mmoo@maﬁqﬁﬁm@ﬂwm
.......... 2
(1) = - () eI (3) o 7500 (4) BT

7. s ssemie refers to the total amount of income received by the firm from selling a
given amount of its output. A
(1) Average revenue (2) Total  Serie
(3) Total fixed revenue (4) Marginal revenue

............ -Wﬁmaﬁmﬁaﬁmﬁaﬁﬁmmﬁa@

(1) haa e (2) T T
r (3) T FfEa Tore (4) EHiT oA
38. When total revenue is maximum, marginal revenue is .......... '
(1) Maximum (2) One (3) Negative (4) None of the above
ST gt ST SifereRE @ & T ST .eenennns B B
(1) ATEERTH (2) TH (3) HAHRIHD (4) 3TH | Fg T
39, . of a commodity is the total amount of commodity available with the
producers at any given time.
(1) Supply (2) Actual Supply
(3) Stock (4) Elastic Supply
.......... ﬁﬂﬁaﬁaﬁﬁs@%ﬁwaﬂﬁﬁ%wwawaﬁﬁ@am
2 |
(1) SaRt (2) aTIfEs SATGRT
(3) wefmn (4) TrEER TYRT
40. The imposition of heavy taxes ona commodity will ............. the supply.
(1) increase (2) decrease ‘
(3) not to be related (4) None of the above

'PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)




41.

42.

43.

11

waqqrmaﬂmﬁ@aﬂ@_ﬁ .......... Erl |
(1) = 2)
(3) Heifer . (4) TG F | B T

Sellers selling homogeneous products in the perfect competition market indicate ?
(1) A huge amount of loss for all the sellers.

(2) Buyers will not buy the products.

(3) Sellers will become price makers.

(4) Sellers cannot influence the prices of the products.
T?q%ﬁlﬁmwﬁwﬁawaaﬁaﬁ%@wwaaﬁ%%?

(1) it el & fg wrd =@ F ghdr |

(2) EhER SR e Tl |

(3) Rmban ge@ FETan & ST | ,
(4)%%@1%&%%#%:@@5?%1

Which of the following options creates a parrier to entry for new firms ?

(1) A rule of law that protects the existing firms in the market from the new firms.
(2) Increased competition in the market deters new firms from entering.

(3) No firm can create a barrier to entry.

(4) Huge losses made by the existing firms in the market deter new firms from

entering.

Wﬁéﬁﬁ@ﬁ%ﬁﬁﬁqﬂétﬁﬁ%qﬁmﬁmmmm%?
(1)Wm@ﬁﬂﬁﬁwﬁﬁﬁﬁr%ﬁaﬁﬂémﬁ%aaﬂ%l
l(Z)Wﬁaﬁ?ﬁﬂﬁlﬂﬂ!fﬂéﬂﬁﬁﬁ@ﬂzﬁﬁ%ﬁﬁ%l
(3)a?|§sﬁ‘rtﬁn?q%mﬁam=1€iamwrcﬁl
(4)wﬁmmmmwmwﬂéﬁaﬁw@m%|

Read the following statements given below and choose the correct alternative :
Statement 1: Perfect competition hypothetical situation.

Statement 2 : Under perfect competition, the government decides the prices of all the
products and services. :

(1) 1isincorrect and 2 is correct

(2) 1is correct and 2 is incorrect

(3) Both1and?2 are correct

(4) Both1 and 2 are incorrect

PG (Hons.)-EE-June, »023/(Economics (Hons.) Five Year)(SET-X)/(A) .P.T.O.




44.

45.

46.
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Wz:qgfqﬁﬁrﬁwﬁraﬁr{
(Dlw%aﬁ'{za—eﬁ%
(2)1Ha%a?fT2W%
(&a“lﬁhaﬁza@%
(4)Eﬂ?ﬁ1a$rr2nﬁa%

Sellers in the perfect competition are price takers because : h 1
(1) Sellers get a lot of pressure from other competing firms to accept ¢ P

equilibrium price in the market.
(2) Buyers influence the prices of products.
(3) Government forces the sellers to sell a pro
(4) None of the above
ot wferEfer & feshar s AT O a@ aa § Fh
1) SR # el e
fereqef it @ Sgd aiEs aud e 2
() @'ﬁmmﬁﬁaﬁﬁzﬁrqmﬁﬁaﬂ%%l
(3) Wmﬁﬁﬁmmwmaﬁ%mwm%l

(4)3@?!5%?@@%:@

How is the demand curveina perfectly competitive market ?
(1) The demand curve cannot be calculated.
(2) The demand curveis a vertical line at the market price.

(3) The demand curve is flat.
(4) The demand curveis a horizontal line at the market price.

gﬁqﬁﬁﬂﬂ‘ﬁaﬁﬂﬁqﬁaﬂs%mm%?
(1)n‘ﬁama%mﬂ€fﬁwmn
(Z)ﬁﬂaasamg@tﬂqzsaaaﬁ%@r%|
(3)rﬁﬂaaﬁarraﬁ_%|
(4)m°ﬂa%mwwi@qq1@%m%@%n

duct ata particular price.

The market type which is known as perfect competition is ........

(1) Highly competitive and companies find it challengi beiog . S
the long run ging to earn economic profits it

(2) Almost free from competition and companies earn large profits

(3) Marked by firms continuously trying to upgrade thei
prefer their products to that of their compet?tgzs‘ eiz:produets (soithat buy >

(4) Dominated by fierce advertising campaigns

-EE-jlm .. n023/(Economics (Hons.) Five Year)(SET-X)/(A)
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Wwﬁﬁgﬁqﬁﬁﬁm%wﬁwm%ta@%l .......... |

(1) STl sfrest ofr wufrdl @ o 99 § onfs ey oifeid &
ARIYET e 8

(2) uRreget § T g6 ofk wulrEl ST GATHT HACH §

(3) BHT ERT TR SO IS @ I B B A FA & g ffed
Rrar St & a1fp @deR U SWet # TIN Rediigl & Sl |/ 96
7

(4) 991 fsas i@l &1 e
47. In a perfectly competitive market, the type of decision a firm has to make is different

in the short run than in the long run. Which of the following is an example of a
perfectly competitive firm's short-run decision ?

(1) What price to charge buyers for the product

(2) Whether or not to enter or exit an industry

(3) The proﬁt—maximiziﬁg level of output

(4) How much to spend on advertising and sales promotion

e IOf dfaesi o #, ue B B B yerR & o a9 9sd €, 98
dpra B ST o ¥ R eiem B freefafaa # @ s ww gl
giereqelt B & SIeasmeE ot @ STmRer § 7

(1) STE B g @&t 9 F=1 HAd age-il 8
(2) Tpe TET F 99T HIAT @ AT Al
(3) IEH N ATH-ATHTHIH LT &X
@) s ) R v=r ) T @ & B

48. Perfectly competitive firms are price takers because :

(1) each firm is very large.

(2) there are no good substitutes for their goods.

(3) many other firms produce identical products.
(4) their demand curves are downward sloping.

ot SRERT B PHEa T80 H el Bl & i ¢
(1) 7% FH g S il R

(2) IH A H D3 7=\ [Aeheq &7 B

(3) F3 T BH TAN IMMEN HI IR B 2 |
(4) IS9P ART G Y N AR ¥D g T

PG (Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A) P. T..O.
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49. Business owners in the perfect competition have to make different

50.

51.

A

types of decisions,
both short and long term. Which of the following options are short term decisions ?
(1) Output levels that have a direct impact on profits.

(2) How much to spend or{ advertising.

(3) To enter the marketplace or take an exit.

(4) The price of the goods and services.

oot SRR § ST AR @ R R $ ag aar Qe S
T = ¥ P Reedt § Q - oTTeEeE o & 7

(1) SSeYe R P @ X e g9 a4l B

(2) fasmaw 9x R == HAT B

(3) IR § YA HIAT AT A6 FehaT |

(4) TEIeT AR JareT H HEA |

The elasticity of demand for the product in a single firm in the perfect competition is:

(1) Zero because all the sellers are selling an identical product. ‘

(2) Zero because all the sellers are selling heterogeneous products.

(3) Infinite because all the sellers are selling identical products.

(4) We cannot calculate the elasticity of demand for a product in perfect
competition.

oot SRR # Rl @b W § owr A B e A ¥

(1) S i @t Rdbar o @9 I a9 W@ T

() g i G e e SEw 99 @

(3)%%@%%@@%?1%%1

(4) &9 PRET SIS @ AN B A B W T TE BT FB

Which of the following is a method to measure the National Income ?

(1) Expenditure method (2) Income method
(3) Product method ‘ (4) All of the above
Prfefea & @ -0 TSI HF B OAES H AT F 7
(1) == fafe (2) o fafy

@) Sw= fafyr (4) SURH &

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)
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52. The difference between the National Income and the Net National Product at market

53.

54.

55.

PG (Hons.)-EE-June, 2023/(Economics

price is known as ............... .

(1) National debt transfer

(2) Current transfers from the rest of the world
(3) Net indirect taxes .

(4) All of the above

WWWWW@TWT@HW%@H%Wﬁ ......... &
=g ¥ ST S 2|

(1) TsET ROT BT

) A Fygg F FdEE WET
(3) Y= IITE BT

(4) Sudrn &

Which of the following is not needed while considering the Gross National Product ?
(1) The net investment made by foreigners within a given period

(2) The total of private investments made within a given period

(3) The total purchase of goods made by the government within a given period

(4) The total per capita income of the citizens of a country within a given period

Wﬂﬂamwﬁwmmﬁmﬁfﬁgﬁﬁ%ﬁmﬁmsmqﬁ

Which of the following is nota national concept ?

(1). GDPrc (2) NNPwp (3) GNPrc (4) NNPsc
ﬁmﬁr@ﬁﬁ@rzﬁq—ﬁrn@ﬂaﬁm TR T
(1) GDPrc (2) NNPwr (3) GNPrc (4) NNPgc

. The difference between NNPyve and NNPrc is:

(2) NFIA

(1) Depreciation
(4) Allof the above

(3) Net Indirect Tax

(Hons.) Five Year)(SET-X)/ (A) P.T.O.
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56.

57.

58.

pG(Hons:

NNPwp SR NNPrc & 1o 37X 8 °

(1) Teaew (2) TAUHSTEY (NFIA)
(3) [ ITIHE HY » (4) ITA=H AT

If Net Factor Income Abroad is 0, then ........... ;
(1) Domestic income will be more than national income
(2) Domestic income will be equal to national income

(3) Domestic income will be less than national income
(4) None of the above '

iy Ryl & Yu HR®H AT 0 8, A ooovenennns |
(1) RG T T o & Al Bl

(2) O I UL A™ B qASL BN

(3) U I U A™F & &HH B

(4) IWAH F q Hg TS

If Net Indirect Taxes are positive, then ............. .
(1) Factor cost will be less than market price

(2) Factor cost will be more than market price

(3) Factor cost is equal to market price

(4) None of the above

Iy g TS HT FHRHSB &, TN |
(1) R AR IR o 9 FHA Bl

(2) FHRF AN TS T A Al &7l

3) HRF A SO G P SER 8

(4) ST F F g &

Which of the following is included while calculating national income through value
added method ?

(1) Intermediate goods (2) Services for self—consumptmn
(3) Second hand goods : (4) None of the above

Waﬁaq&%%w%w@amzﬁwmmwﬁ%
8 enfoe fpam Stam & 7 | 7

(1) "t aegd (2) TE-STT & R Yany
(3)‘g'u=nrna : (4) SIRP A /P

)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)



A

59. Which of the following is correct ?
(1) GDPwp = Value of Output - Intermediate Consumption
(2) NDPgc = Value of Output - Intermediate Consumption
(3) GDPgc = Sales + change in stock
(4) NDPyp = Sales + change in stock
fret & § S FET e 7
(1) GDPwp = SSEYE 1 Jed — HeASd T
(2) NDPFc=GﬂW$T11€1—-qma?ﬁ@qﬁ
(©) GDPrc = [ + veferar ¥ afEd+d
(4) NDPyp = foeit + 3efaar & aRadw

60. Which of the following is not a component of operating surplus ?

(1) Profit (2) Intermediate consumption
(3) Rent and royalty ~ (4) Interest

PrefaRad & § @F-a1 aRere Sy &1 geh 787 87

1) @ | (2) FeEdt ST

(3) feptmr IR @i (4) =T

61. Which of the following is the thing that is generally accepted by everyone as 2
medium of exchange ?

(1) Money , (2) Goocis
(3) Services (4) None of the above

Prfafed # @ A-@ axg w3 wwm & ww § e @ 87
R B S B 7

(1), T (2) w

(3) qad (4) Iudart § A B¢ e
62. On which things were not included in the Supply of money measure ?

(1) inter-bank deposits

(2) Demand deposits with financial institutions on a net basis

(3) Currency and coins are available to the general population

(4) Deposits with the RgServe Bank of India (RBI) in addition to the above

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A) P. 1.0
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63.

64.

65.

66.

gﬂaxqﬁmﬁﬁﬁﬂfﬁﬁﬁaﬁﬂﬁm 47gF Fpa AT 7
(1) Sfa-sfn ST
(z)sgaaﬂmwﬁ?ﬁqﬂwﬁ%w%’m‘é%ﬁﬁ?
(3)$T@TMWW%WGQ‘E@I%
(4)W%WWW%(RBI)%WW

Commercial banks create money in the following ways :

(1) By issuing currency (2) By creation of bank deposits

(3) Neither (1) nor (2) (4) Both (1)-and (2)

aforeus S Fr=faRad Tl 9 97 @ oA EXGEEEE

(1) TeT ST BHIh (2) Fep ST T FAATT HTD

@) T A (1) I T & (2) | @) (1) 3T (2) A

Which function of money, removes the problem of double coincidence of wants ?
(1) Measure of value (2) Medium of exchange i

(3) Store of value (4) None of the above
gmwﬁq—wmmsmaﬁ%aﬁwaﬁwwaﬁgm%?
(1) I 1 AT (2) fafera @1 HreEH

(3) T B HSK (4) SUH H T FH/IS A

In the present world, the act of purchase of goods, and sale of goods have been
separated due to the existence of money. This has been facilitated by which of the
following functions of money ?

(1) Store of value (2) Medium of exchange

(3) Measure of value (4) None of the above

T dar § aegett & wa AR kg @ B, v % e & srer o
& U gE g9 B et HEAT § q Ee a0 gw e a8 7

(1) I & A8 2) faffma &1 Areas
(3) TIT =T HIY g (4) SR<H & | Hg TS
M1 and M2 makes make up of :

. (1) Narrow money supply (2) Broad money supply
(3) Broken money supply (4) None of the above

PG(I-Idns.)-EE-]une, 2023I(Economiés (Hons.) Five Year)(SET-X)/(A)
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M1 3t M2 et a9 B
| (1) st gar SRy (2) =TT JA ST
(3) SIfer gar @ SR (4) ST T § B A

i
‘ | 67. Which of the following is a step that the central bank will take to encourage greater
] investment in the economy ?

» (1) It will look to increase the cash reserve ratio

Q‘ (2) It will look to reduce the cash reserve ratio

k ~ (3) Itwill look to increase the bank rate

(4) Tt will look to sell the government securities in the open market

| %Wﬁ%%—wwm%,sﬁamﬁﬁ%ﬂa%m%am
| Arerfed & & g Pk Fo I 7

(1) g% 7Tha AT ST FH TGM I & I
(Z)HEﬂaﬁamﬁagqﬁaﬁwmwwm%ﬂ

(3) I8 Fp =X # ghs w4 '

(4) %mﬁqﬁﬁ%ﬁaﬁgﬁwﬁaﬂ%wﬁaﬂm

68. When the Reserve Bank of India (RBI) raises the cash reserve ratio, it will :
(1) Decrease supply of money
(2) - Increase the supply of money
(3) Increase the supply of money initially but decrease the supply
(4) No impact on money supply in the economy

o A R ¥ (STReeTs) Aha STRRE STUI SR §, a1 JE e
n (1) 7= H GTl'gﬁ " HHI

(2) G L ST H S

(3) & F g1 B YRS TP KT SMIR FH B

(4) orefemeen ¥ HET SMYRT 9X B TG T

69. What does Repo Rate imply ? :

(1) When cash is needed, banks can discount bills of exchange and obtain a loan from
the RBI.

(2) Banks give a premium rate to their high-value customers.

(3) The rate at which the RBI provides commercial banks with lending facilities
secured by government assets, with the requirement that the banks repurchase
the securities within a short period of time. ~

(4) Banks with excess cash can purchase securities from RBI on the condition that
they resell the securities to RBI on a predetermined date and at a predetermined

price.

PG (Hons.)-EE-June, 2023/(Economics (Hons) Five Year)(SET-X)/(A) | P.T.O.




20

70.

71.

72.

A;
Yo o7 a9 & 7
:qua;aaﬁmsmaeﬁ%,aamﬁﬁﬂﬂ%%?ﬁ@‘ﬁmm%ﬁ?
RBI@E&'UTWHW%%%; -
(z)ﬁmmﬁﬁﬂ@mﬁmEﬁTmﬂa%%l
(3)aga1mqrmmrﬂﬁq%ﬁfmwmﬁm%aﬁﬁwr%ﬁ
aﬁgﬁmmm%maﬂmﬁw%wuﬁﬁ%aﬂw%w

Hﬁiﬁfﬁaﬁgad‘ﬁ‘c{ﬁ|
(4)aﬁfﬁ?ﬁqﬁaﬁ%msﬁwmlaqﬁwwm%%amn
ﬁ@ﬁﬁ%%ﬁ@?g&ﬁuﬁaﬁquﬁgﬁpﬁaﬁﬁmaaﬁ%

The RBI's increase in the cash reserve ratio (CRR) will resultin:

(1) Reduce the amount of money in circulation in the economy.

(2) Increase the economy's money supply.

(3) There will be no effect on the economy's money supply.

(4) Initially, boost the supply, but gradually reduce it.
Wmm(ﬁmm)ﬁmmﬁeﬁ;wmm:
(1) srefemaeen & oo & o H A B B

(@) ST H AT SAYRT T |

(3) eTefemereer @ WA YR Ux W wHE TE TS
(4)miﬂﬁ,an®a¢r¢,aﬁﬁeﬁ—2ﬂ%§awﬁl

What does the fiscal deficit related to under the government budget ?

(1) Taxes shortfall (2) Disinvestment shortfall
(3) Borrowings requirement (4) Disinvestment requirement
T SeTe B Siad ToTRIEE HreT Bhed ST ¥ 7

(1) @ @ F A (2) fafeaer & w0 |

(3) SURX W SELTHAT H . (4) @St @1 STEIHT |
The measures taken using the government budget can impact to :

(1) Resource allocation (2) Inequalities

(3) Inflation | (4) All of the above
wﬁwmwmﬁmmmwﬁrﬁmﬂaﬁ%:
(1) dETge STEe @ (2) STEATS

(3) HETERIRT B (4) IUAH G A
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73. The difference between which two factors constitute primary deficit ?
: (1) Revenue deficit and fiscal deficit

: (2) Total expenditure and revenue receipts

(3) Interest payments and revenue deficit

! (4) Interest payments and fiscal deficit

fop Q1 BRBT & N w1 SfaR wrfHeE Grer gA T ¥ 7

(1) ISR 9El R ASThINT °reT

(2) B/ =TT AR ST WA

(3) S PO X ST greT

(4) ST YA AR ASHN =TT

74. Which of the following statements is true about the fiscal deficit ?

(1) It is the difference between the total expenditure and receipts of a government
excluding interest.

(2) It is the difference between the total expenditure and receipts of a government
excluding spending.

(3) It is the difference between the total expenditure and receipts of a government
excluding borrowings.

(4) It is the difference between the total expenditure and receipts of a government
excluding taxes.

TR = @ AR § Frefied ¥ ¥ AH-ar v JF 8 7

(1)%%@@@%%@@@?%&%@3@%%1
(Z)WWEQWW%@EmaﬂTWW%%ﬂHmW%i
(B)WGWEQ@WTW%@W@TW%WWW%I
4) %Wﬁﬁww%ﬁamaﬁfm%eﬁawm%n

75. Which of the following statements about the capital budget is accurate ?
(1) The capital budget consists of direct and indi.rect tax. | -
(2) The capital budget consists of capital expendltgre and capital receipts.
(3) The capital budget consists of revenue expenditure and revenue receipts.

ital bud ists of direct taxes.
(fl) The ;;I?:% :n%\ge%tf consists 0 lﬁ il Eﬁg'; gg}% :
1) st Wﬁwaaﬁmaﬂraﬂmﬁa. |
Ez;wawﬁwmmwmsmaﬁ%.
(3)@wmﬁwmmwmmamaa%l
(4)Waa€ﬁwaww€l%%l
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76. Which of the following statements describes the function of a budget?
(1) Itis a description of the income and expenditure of a government.
(2) It is a document containing details of the economic policy of a governmient.
(3) Itis a description of the programs of the government.

(4) All of the above :
ﬁw%@aﬁﬁﬁq—mwm%aﬁﬁwavhm%?

(1)%@W€!§TW@TWEHW%I
(Z)W@mﬁa%mﬁwa%aﬁzﬁ%wﬁwm%l
(3)wm%aﬁrﬁzﬁﬁfamﬁaw%l

(4) IURH G

77. Which of the following statements is not accurate about non-

(1) Disinvestment, external grants and dividends & profits ar
revenue receipts ‘
(2) Disinvestment, dividends & pi'ofits are examples of non-t
(3) Goods and Services Tax is an example of a non-tax revenue receipt
(4) Disinvestment and external grants are examples of non-tax revenue receipts
Prefefad F @ a1 U -HT o Wd X ¥ ' JeTE 7
(1)§ﬁ%m,amﬁaﬂﬁﬁafrramm®amﬁ1—quﬁzﬁ%m
| .

(2) FafRe, areie R e AR o Tt B ST ¥ |
(@W@Wwﬁr—wwmﬁrmwm%l
(4) RfE R I/ oTge™ IR-FHR I WK & IAER € |

tax revenue receipts ?
e examples of non-tax

ax revenue receipts

78. The amount received by the Government in the form of interest, fees and dividends is

known as :
(1) Tax-revenue receipts (2) Capital receipts
(3) an-tax revenue receipts (4) None of these
T BT =, Yo oI Tl F T F i<t A BT P ST T
(1) H-UsTE SierEr : (2) IStrTa st
(3) TR-px TG @) 379 | i3 ALt
79. The amc?unt recc.eived by the Government in the form of taxes-and duties is known as
(1) Capital receipts (2) Tax revenue receipts :
(3) Non-tax revenue receipts (4) All of these

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A) ?G
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The expenditures whj

ch nei
e e neither create an asset, nor reduce any liability for the
(1) Revenue Expenditure

(2) Capital Expenditure
(3 Both (1) and (2) e,

(4) None of the above i

¥ g W A Q@ B gREdf ‘
T B F B G, B %%Wm%eﬁﬂaw%mm

. aEe () T =
3) (1) ST (2) &=t (4) SUdEE A F B T

g1. Which of the following is not an objective of Government budget ?
(1) Redistribution of income and wealth
‘(2) Export promotion
(3) Social welfare
. (4) Economic stability
: ﬁmﬁr@aaaﬁqmmﬂwws@wﬂﬁ%?;
i (1) ed ST S W g '
(2) Frafa SeaeT
(3) GHST FHATT
(4) T X

Al ed : he liability of the
: i 11 either create an asset- Of reduce t _ '
82. Which expend1ture wi

Government ?

(1) Revenue expenditure (2) Capital expenditure

-] receipt : (4) Revenue receipt e
.gqip‘;ma@mﬁmwmmm%_m

] B (2) gt =4
((1))@"““‘% (4)1@@.9@
3

eon scholarship are examples of :

£ (2) Capital expenditure

83. Subsidies and expenditi

20 s : 'l X
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84.

85.

86.

- 87.

WWW@TWW'%‘:
(1) Tored =G B (2) GSIFTT =9 &
(3) gofrr s & (4) oTEg i &

If the Government estimated receipts are less than estimated expendlture, then it is
termed as :

(1) Surplus Budget (2) Deficit Budget

(3) Balanced Budget (4) All of these
gﬁwaﬂaﬂmﬁﬁmmm@waﬁ% ﬁra@raﬁaw

( ) AT T (2) 912 FH FoIS
3) EfT o1 (4) ¥ g
In case of some capital receipts, thereisa ............ to return the amount with interest
at a future date. '
(1) Future obligation (2) Contingent obligation
(3) Past obligation (4) None of these
HB GOl TiTat & " &, Sl gHg u) =S afed Afyr aaw s @ i
B A 2l
(1) «fersy a7 aregar (2) SAHRHD ST
(3) Reen =R 4) 37 | | T

Which economy produces the goods that can be sold in the domestic or foreign
market for profit motive ?

(1) Capitalist economy (2) Socialist economy

(3) Mixed economy (4) None of the above

HIH- Srefeaer e aﬁasrma?m‘cﬁ%%r%ww%a%wﬁaﬁm
fRel stk & = S wwaT B 7

(1) Yolar) sweferaen (2) FATSETE! Frefeaea

(3) afdr srefeyaeen 4) T | Mg &

The economy which produces 'only those consumer goods, which are demanded by

the buyers and which can be sold in domestic or foreign markets profitably is known
as:

(1) Market economy | (2) Capital economy
(3) Both (1) and (2) (4) None of the above

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A) |
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%amwﬁmwwﬁwaqﬁwwm%%ﬁﬁaﬁ
mmaﬁw%ah%%aﬁmﬁ%sﬂamﬁﬁaﬂww@ramw

(1) SITSTX STefemeree (2) UsT STefeeeen

(3) (1) X (2) A=Y (4) SURIERT F | By K

Which of the following is the outcome of the globalisation of a country's economy ?
(1) Outsourcing (2) Privatisation

(3) Liberalisation (4) None of the above

AT B SefeeRET & Jedipeer @ qiond Fre F & @ ¥ 7

(1) ArSTAIT 2) frefeeeer

(3) IETAHTOT (4) ST F | By T8

The economic reforms under the New Economic Policy of 1991 were made so
thabi...c.eves .

(1) the government would drive the economy towards development and growth
(2) market forces would drive the economy towards development and growth

(3) the public would drive *he economy towards development and growth

(4) None of the above

1991 & =E oTfdF Hify & ded onfie uR @ Y 7T @fd ... |
(1) TP Srefedaeen & e o I+ & X o sl

(2) SR &Y arhe erefeaeen @ famra ofiT Il @ AR & S

(3) ST arefeTaRen @ R SR Sk @ ok @ S

(4) SRRP § § HE el

Many products from small-scale industries were ............
was deregulated in 1991.

after the industrial sector

(1) De-reserved (2) Reserved

(3) Both (1) and (2) are correct (4) Both (1) and (2) are incorrect
‘1991ﬁ@@maa@aﬁammm%magm%a¢w

.......... |

(1) ST () G?Wféﬁ

@) () o (2) & W& E 4) (1>a-=ﬁuz>a=ﬁnaa%
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rring the ownership, management and control of a public sector

91. The process of transfe
risknownas ............. )

partially/ entirely to the private secto

(1) Globalisation (2) Liberalisation

(4) None of the above
siee AR PR @ erfees wy @/gef w9 @ Rl

(3) Privatisation

W%%W}

B 7 et BT B ABRAT B $ w9 F ST ST S
(1) AgdpoT (2) T
(3) fsfieRTeT (4) IAFT T T HIS TEA

92. Which of the following arguments are made in favour of privatisation of a country’s
economy ?
(1) It helps to revive sick public sector units
(2) It creates a competitive environment for businesses
(3) It helps to protect the sovereignty of a consumer
(4) All of the above
et 21 A orleraEe & Felwwer & T ¥ Frefaie § & @A a6
o ® 7
(l)mwmaﬁﬁm@aﬁmmﬁﬁwm%
(2)u3mr&r%m@qﬁwaﬁawwm%
(s)mmaﬁmgmaﬁwzsﬁﬁqﬁm%

(4) I G

93. After implementing the New Economic Policy, which sector mainly drives the growth

of Indian economy ?
(1) Agriculture  (2) Service (3) Industry (4) Construction
T onfhE W B @ B B aE, ARG T & e w1 g =
¥ -1 A5 d=ieT HET 8 7

(1) (2) qar (3) & (4) f|ToT
94. What called for land reforms in India soon after independencé ¢/

(1) Agricultural development (2) Equity in agriculture

(3) Growth with equity (4) Self-sufficient in food grains

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(A)
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5 AN & G I8 ARG § 9f gUR @ @ wel T4 o7 7
: (1) F Ry (2) P & FATI
(3) 99T B ary Ry (4) @rEm= 7 ofreAfrsx
95. The constant decline in average size of holding in India is caused by :
(1) Law of inheritance (2) Consolidation of holding
(3) Mechanisation of agriculture (4) Love for land
AT S B ohEd e § R FREE @ SR ©
(1) STufasr = Fam (2) ST & =TheEl
(3) B 1 TAhHToT 4) 9f7 | 99
86. The nature of unemployment seen in agriculture is :
(1) Cyclical unemployment (2) Educational unemployment
(3) Disguised unemployment (4) Voluntary unemployment
FHY & FE A arl A B TP B
(1) = A (2) QAferp AASET
(3) T=B= AT (4) Qftss I

97. Which agency is responsible for procurement, distribution and storage of food grain
production in India ?

(1) Ministry of Agriculture (2) Food Corporationof India

(3) NAFED (4) TRIFED
wammﬁw,wmwamﬁa@m
R 2 7

C (1) B HAH (2) W @ e

(3) A% (NAFED) (4) EF®S (TRIFED)

98. Which of the following was the main reason behind initiating the economic reforms
in the country ?
(1) India was facing a huge fiscal
(2) India had an adverse balance of payments

prices of several essential commodities

deficit issue

(3) Therisein the

(4) Allof the above
omics (Hons.) Five Year)(SET-X)/(A) P T 0.
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99.

100.

A

%srﬁanﬁizﬁgmgrazﬁﬁ%%ﬁmﬁrﬁqﬁﬁﬁaﬁmwg@imm?
(1) IR T S IR 91 & HR T Frer R L@ A

() ARG § P €Y AR o

(3) S eTaLTH TEIS B HFAT F gfw N

@) IuA<H gl

Which of the following statements is true about liberalization ?

(1) It involves the reduction of government controls and deregulation along with
~ greater autonomy for the private investments.

(2) It refers to contracting some of the activities performed within the organization to
third parties.

(3) Both (1) and (2) are correct

(4) Both (1) and (2) are incorrect

SIEROT & qR d Frafiiiaa § 9 H9-ar &89 g © 7

(1)sﬂﬁﬁvﬁﬁ%sﬁ%%qaﬁzsw%w—wamrﬁﬁﬁ3ﬁﬁwﬁ
SR StfgHe et €

(2)%W%ﬁwaﬁaﬁaﬁ§anﬁﬁfﬁﬁaﬁeﬁ@qaaﬁa§aﬁm
FA & fw deiia @ 21

(3) (1). % (2) AT TEr &
(4) (1) M (2) A Taq B

Which one of the following was one of the objectives of demonetisation in 2016 ?

(1) To gift new notes to people of India
(2) To reduce and prevent circulation of black money in the market

(3) To increase the interest rate

(4) To increase the value of currency

Prefeiag & @ @-ar 2016 § RgsieRer & Sesdl # @ o e ?
(1) 9RT & QN H Ag e IueR # I
A(Z)Wﬁmw%qwaﬁwmaﬁtﬁw

(3) == &X # gl &eAr

@) 51 & T F g B

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/ (A)



Total No. of Printed Pages : 29

(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU

ARE ASKED TO DO SO) FSET-)Q -
B PG(Hons)-EE-June, 2023

Economics (Hons.) Five Year Integratedlb()%

Sr.No. oo
Time : 1% Hours Max. Marks : 100 Total Questions : 100
Roll No. (in figures) (in words)
Name Date of Birth
Father's Name . Mother's Name

Date of Examination

(Signature of the Candidate) (Signature of the Invigilator)
CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE = :
STARTING THE QUESTION PAPER.: <
1. All questions are compulsory. &3]

2. The candidates must return the question booklet as well as OMR Answer-Sheet to the Invighatc
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him/ her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated. :

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate.

4. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the
University Website immediately after the conduct of Entrance Examination. Candidates may raise
valid objection/complaint if any, with regard to discrepancy in the question booklet/answer key within
24 hours of uploading the same on the University Website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no complaint in any case, will be
considered.

S. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,
may be done in the question booklet itself. Answers must not be ticked in the question booklet.
6. There will be no negative marking. Each correct answer will be awarded one full mark.
Cut.tmg, eérasing, overwriting and more than one answer in OMR Answer-Sheet will be treated
as incorrect answer. : ]
. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

8. Before answering the questions, the candidates should ensure that they have been supplied correct
aqd complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30
minutes after starting of the examinati

~
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1. Sellers selling homogeneous products in the perfect competition market indicate ?
(1) A huge amount of loss for all the sellers.
(2) Buyers will not buy the products.
(3) Sellers will become price makers. .
(4) Sellers cannot influence the prices of the products.

qof SRR JemR & aoig S S aw f@ekar e agid 8 7
(1) | fasbaraAt & [ 9l J=1 § geRdr |

(2) T IR A8 @ |

3) fashar qea FeiaT &9 Sdd |

(4) TasbaT IET H BT B gfad TS B Hebd |

2. Which of the following options creates a barrier to entry for new firms ?
(1) A rule of law that protects the existing firms in the market from the new firms.
(2) Increased competition in the market deters new firms from entering.
(3) No firm can create a barrier to entry.

(4) Huge losses made by the existing firms in the market deter new firms from
entering. ’

FrafaRad § @ P-a1 Reseq € AT B 939 F 9787 I HWET © 7

(1) B B0 T FEm s e § AEr BA B A3 BH 9 S 2

(2) IR H sedt dferegst A9F BHT @B qAYT B F Akl B

(3) his off B HIer H e AsF &A1 Hhedl |

(4) s AgEr wAT FRT B T 9 e T8 WA B 5Ed Akl B

3. Read the following statements given below and choose the correct alternative :
Statement 1 : Perfect competition hypothetical situation.
Statement 2 : Under perfect competition, the government decides the prices of all the
products and services.
(1) 1isincorrect and 2 is correct
(2) 1iscorrectand 2 is incorrect
(3) Both 1 and 2 are correct
(4) Both 1 and 2 are incorrect
o Ru T4 wuet & afen ok el famea &1 =999 Hivg -
HET 1: O S wreates Rafar 2
HT 2: Y0 AREARET § wxe " Saral ofik darett & e a7 F T
(1) 1 7o ol 2 & B oz
g AR

2) 1 ¥ 2 AT B
3 TAN 1 X 2 T &
(4) /AT 1 X 2 T T
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4. Sellers in the perfect competition are price takers begause. : H

(1) Sellers get a lot of pressure from other competing firms to accept the prevailing
equilibrium price in the market.

(2) Buyers influence the prices of products. s, :

(3) Government forces the sellers to sell a product at a particular price.

(4) None of the above : .

gof gfa e & sl b T8 19 arer e & e s

(1) 9 & Jofed §ga9 g0 Bl @er #a B fw Rdarel @y
gicreqdl Bat 9 "8 s s g fear R

(2) TSR SR B BT B goqfag a5 T

(3)awﬁﬁmﬁﬁﬁﬁwmwméﬁ%%qwm%s

(4) SWR<6 F q FE T

S. How is the demand curve in a perfectly competitive market ?
(1) The demand curve cannot be calculated.

(2) The demand curveis a vertical line at the market price.
(3) The demand curve is flat.

(4) The demand curve is a horizontal line at the market price.
T SR e F 97 g Sar A ® 7

(1) 50T % & T TE B o G |

(2) AT Tk IR g GX T g @ T

(3) AT T THAT B |

(4) 5T T IR ger X we et Y )

6. The market type which is known as perfect competition is .............. :
(1) Highly competitive and companies find it challenging to earn economic profits in
the long run ‘
(2) Almost free from competition and companies earn large profits

(3) Marked by firms continuously trying to upgrade their products so that buyers
Prefer their products to that of their competitors'

(4) Dominated by fierce advertising campaigns

mmons-)~EE-Iune,‘2023I(Economjcs (Hons.) Five Year)(SET-X)/(B)



B : 3
7. In a perfectly competitive market, the type of decision a firm has to make is different

in the short run.t.han in the long run. Which of the following is an example of a
perfectly competitive firm's short-run decision ?

(1) What price to charge buyers for the product
(2) Whether or not to enter or exit an industry
(3) The profit-maximizing level of output

(4) How much to spend on advertising and sales promotion

g P sRreadt soR ®, ™ v B B ower & Fofg a9 9sa B, 9
efepreT B e YR H e B ® ) fr=fafaa § @ #-ar o gof
gRreqsl ®H & SAeqmriE Fota & ST § 7

(1) e & AT @dERT | =1 HET aga 8

(2) RREY SET ¥ SRS B B ar Wt ‘

(3) ITUTEH Bl SATH-IHATAhHTHIR T &

(4) fasmos ofR R sER WX T @ B R

8. Perfectly competitive firms are price takers because :

(1) each firm is very large. A
(2) there are no good substitutes for their goods.
(3) many other firms produce identical products.

(4) their demand curves are downward sloping.

oo SRR T e F A A ¥ i
(1) &% w4 sgd IS el & |
(2) ITH AT F B ST e TE T |
(3) FE T B T IS B IUEA B T |
(4) S TET @6 A B AT b gl § |

/9. Business owners in the perfect competition have to make different types <)f_d?d51(;n5'
both short and long term. Which of the following options are short term decisions !
(1) Output levels that have a direct impact.on profits.
(2) How much to spend on advertising.
(38) To enter the marketplace or take an exit.
(4) The price of the goods and services.

_ Y p.T.O.
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4 B g
wmﬁmﬁmqﬁﬁﬁﬁmw%agammﬁ%
I U=y B Raedl § @ -9 ST el B 7

(1) eTSeye &Y @ are 9X 4T 997 g8 2|
(2) = 9x AT @9 &A1 B

(3) IR F FAST HIAT AT A6 el |

(4) TEgeTt X QAT P HH |

10. The elasticity of demand for the product in a single firm in the perfect competition is :
(1) Zero because all the sellers are selling an identical product.

(2) Zero because all the sellers are selling heterogeneous products.
(3) Infinite because all the sellers are selling identical products.

(4) We cannot calculate the elasticity of demand for a product in perfect
competition. '

gof st # fpdt wh & H Iare S 56T @ @ el 8
(1) = F% G faddr o a9 Sare a9 <@ B

2) I FHitp I Fehar fauq SE 99 @ 2

(3) =T Hifer T fasbar 999 SR S99 W@ 2|

(4) &9 FRell IIE B AT B A B G IO TE B Fehol

11. What does the fiscal deficit related to under the government budget ?

(1) Taxes shortfall . (2) Disinvestment shortfall

(3) Borrowings requirement (4) Disinvestment requirement

TEH ToTe B Siqetq TN g Rred e @ 7

(1) & & w1 | (2) fafrast &1 w41 |

(3) JAR H STATHEAT & (4) fafEsT & SAETHar |/
12. The measures taken using the government budget can impact to :

(1) Resource allocation (2) Inequalities

(3) Inflation (4) All of the above

GBI TSE T ITANT e fpy T I ST B FHA §

(1) dErea 3TEed (2) FTEAFST &

(3) HEERIT Y . (4) SUUH G A

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(B)



B

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(B)

13.

14.

15.

The difference between which two factors constitute primary deficit ?
(1) Revenue deficit and fiscal deficit

(2) Total expenditure and revenue receipts
(3) Interest payments and revenue deficit
(4) Interest payments and fiscal deficit

(1) TroTeq =TT 3IX ST =7er

(2) T I ST AT AT

(3) =TS HIATT X TS =1eT

(4) AT A ST ASThIE HreT

Which of the following statements is true about the fiscal deficit ?

(1) It is the différence between the total expenditure and receipts of a government
excluding interest.

(2) It is the difference between the total expenditure and receipts of a government
excluding spending.

(3) It is the difference between the total expenditure and receipts of a government
excluding borrowings.

(4) It is the difference between the total expenditure and receipts of a government
excluding taxes.

TS g @ A § Frefaiad § § AF-a1 g ® 7

(1) T8 &S Pl BISHL AIHR © FA AT x ot & <= &1 ofax 2
(2)%@%6!%@15*(H{*l(%aﬁmaﬂ?m%ﬁﬁamaﬁ‘{%l
(3)&3381?@@337{%{(%1(%@«1W@Tm%éﬁﬂaﬁraﬁﬁ‘{.%t
(@ﬂgﬁaﬁﬁwﬂw%@amaﬁtm%aﬁaaﬂw%i

Which of the following statements about the capital budget is accurate ?

(1) The capital budget consists of direct and indirect tax.

(2) The capital budget consists of capital expenditure and capital receipts.
(3) The capital budget consists of revenue expenditure and revenue receipts.
(4) The capital budget consists of direct taxes.

GofT woTe @ aR F Preiiead § @ Pe-ar wEd @@ e 7

(1) GSfrmr dsTe & sosr oK oTScUEl Y M e E |
(Z)WWﬁWWWWWSW@?ﬁ%I

(3) G wote F Towe @g olx TR Wikt anfEe et ¥
(4) GIF SsTe ¥ g H BN |
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16. Which of the following statements describes
(1) Itis a description of the income and expenditure of ‘
(2) Itis a document containing details of the economic policy of a gove
(3) Itis a description of the programs of the government.

(4) All of the above
hﬂfﬁaﬁﬁ‘éaﬁﬂ-mmm%mmmm%?

(I)W@Waﬁmaﬁmwﬁaﬂal .
(Z)ugqasm%a%ﬁwﬂmﬁmm:ﬂ%mmmr%z
(3) TE EXHR B HrAFEAT BT fAETr ¥

4) ITAH

17. Which of the following statements is not accurate about non-tax revenue receipts ?

(1) Disinvestment, external grants and dividends & profits are examples of non-tax
revenue receipts

(2) Disinvestment, dividends & profits are examples of non-tax revenue receipts

(3) Goods and Services Tax is an example of a non-tax revenue receipt

: : 't ?
the function of a budget !
a guvcrnmum.
rnment.

(4) Disinvestment and external grants are examples of non-tax revenue receipts

Prfafag & @ A-97 FUA BT Tora wiedr & iy # q@d J@ 2 7
(1)ﬁﬁ%ﬂ,a13ﬁa§mqafrrmﬂ®wﬁt-aﬂmm%m
gl

(2) Fafer, amier o) @ IR-FR o At & IareIer €|
(3)a@®ﬁmmﬁr~mwmm@m%l
(4) RafA R T’ FAgEH R-H I AfTdl & I 8 |

18. The amount received by the Government in the form of interest, fees and dividends is

known as :
(1) Tax-revenue receipts (2) Capital receipts
(3) Non-tax revenue receipts (4) None of these
TIHR BT AT, Y&k T AW & &9 & ured i By war e ®
(1) H-qoTEg Fifear (2) Gofie snifterai
(3) AR-epx o AT (4) &1 A RNg A
19. The amount received by the Government in the form of taxes and duties is known as
(1) Capital receipts (2) Tax revenue receipts
(3) Non-tax revenue receipts (4) All of these
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mmmﬁﬁg&ﬁ%mﬁmaﬁaﬁa@nﬁrmﬂ@a:
(1) efrre s (2) HT qoEE wferdm
3) M-+ T it (4) A M

20. The expenditures which neither create an asset, nor reduce any liability for the
: Government is called :

(1) Revenue Expenditure (2) Capital Expenditure
(3) Both (1) and (2) (4) None of the above

amﬁﬂammﬁqﬁﬁmﬁ%aﬁwﬁw%M%m
e B F9 A §, HeAd ©

(1) TR ) dofrTa =
(3) (1) X (2) AT @) SR ¥ § FrE e

21. The process of transferring the ownership, management and control of a public sector
partially/entirely to the private sector is known as ............. :

(1) Globalisation (2) Liberalisation

(3) Privatisation (4) None of the above
aﬁﬁﬁﬁ%%aﬁﬂ,ﬁaﬁaﬂ?ﬁﬁaﬂzﬁaﬂmm%/@mﬁﬁﬁﬁ
A ¥ wHART H B AT B $ w9 & ST A ¥

(1) ALEBHIOT ' (2) IETHIT

(3) FstieneT (4) ITAET F F Hg A

22. Which of the following arguments are made in favour of privatisation of a country’s
economy ?

(1) It helps to revive sick public sector units
(2) It creates a competitive environment for businesses

(3) Ithelps to protect the sovereignty of a consumer
(4) All of the above

Wgﬂﬁmm%ﬁﬁmw%wﬁwmﬁﬁmmmﬁm
ST g ¢ '
(1)%Waﬁaﬁiﬁ%aﬂ%m3ﬁaﬁgwﬁﬂﬂ$ﬁﬁmmk

(2) 98 erEaEt 3 R o s aremEer s 8

(%%mﬁwa’?rﬁngmaﬁmmﬁﬂmm%
4) ITqF gl

PGH < W g e
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23.

24.

25.

26.

27.

PG(Hons.)-EE-] une,

B

After implementing the New Economic Policy, which sector mainly drives the growth

of Indian economy ? .
(1) Agriculture ~ (2) Service (3) Industry (4) Construction

- s AR B AL B B A, Sy orderaeer & fasmre B ST W
§ sPrar & g e ¥ 7

(1) P (2) dar (3) IENT (4) femTor
What called for land reforms in India soon after independence ?

(1) Agricultural development (2) Equity in agriculture

(3) Growth with equity (4) Self-sufficient in food grains
e ® gI 919 WRA H qH gur &1 Er el 49T or ¢

(1) gﬁr IEEJESI (2) P F FHEAT

(3) GHMEAT & AT {ehrd (4) @rEmT= & STeAfTHT

The constant decline in a\}erage size of holding in India is caused by :

(1) Law of inheritance (2) Consolidation of holding
(3) Mechanisation of agriculture (4) Love for land -

IRd & Sg & Na R § e PR &l HRer 8

(1) IeiEeRR @1 e C(2) IO FH ThEal

3) P wH ALAHIBHIT 4) 9% 9 99

The nature of unemployment seen in agriculture is :

(1) Cyclical unemployment (2) Educational unemployment
(3) Disguised unemployment (4) Voluntary unemployment
H & At Y A AASEIG A AHRT B

(1) =H™ SRS 2) ARYFH AT

(3) w=B= ST (4) Wi aﬁm

Which agency is responsible for '
procurement distribution and stora : ram
production in India ? fretnd

(1) Ministry of Agriculture (2) Food Corporation of In dia
(3) NAFED (4) TRIFED

T : : :
mm%@?'a';' SR #HEdE, {aeer ok sERw @ fRyw g oA

(1) 3N worey ' -
(2) ARAT ey P ~
(3) BT (NAFED)

(4) TTEHS (TRIFED)
2023/(Economics (Hons.) Five Year)(SET-X)/(B)
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28. Which of the following was the main reason behind initiating the economic reforms

29.

30.

in the country ?

(1) India was facing a huge fiscal deficit issue

(2) India had an adverse balance of payments :

(3) The rise in the prices of several essential commodities

(4) All of the above

e § ol guR gE HW B T8 Fefaiaa § @ Se-a JEF HReT o1 ?
(1) ¥9RT TF 92 JqSTHNE °91¢ & & H1 qEA1 B LT Al

(2) 9T T YA dgad S &

(3) FE oTEYEE axge @ AT & g of

(4) I9A<H Gl

Which of the following statements is true about liberalization ?
(1) It involves the reduction of government controls and deregulation along with
greater autonomy for the private investments. ;

(2) It refers to contracting some of the activities performed within the organization to
third parties.

(3) Both (1) and (2) are correct

(4) Both (1) and (2) are incorrect

SETHETeT @ aX § retarad ®§ F SHiA-ar B gFTe?

(1)sﬂﬁﬁvﬂﬁ%ﬁﬁ%%ﬂaﬁmw%m—mmﬁﬁﬁaﬂﬁﬁﬁ
afx arfss anfaa

(2)%@@%%&%3@@@8@%&?@&@%@3@3
W%WWW% '

3) (1) ok () At |& T

@) (1) 3R (2) A T B

Which one of the following was one of the objectives of demonetisation in 20167
(1) To gift new notes to people of India

(2) To reduce and prevent circulation of black money in the market

(3) To increase the interest rate

(4) To increase the value of currency
ﬁwﬁﬁqﬂﬁéaﬁﬁ-mzmeﬁﬁgﬁmw%ﬁsﬁﬁﬁﬁm?
(1) 9= & AR B AT AE ITR F S

(3) = & H gis BT

(@) T B g F R BT S0
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31. When the datais collected by invigilator from the place of origin is called «..coooreeee -

(1) Secondary (2) Primary
(3) Secondary and Primary (4) All of the above
mwwaﬁﬁ%m%mmm%ﬁr@ ..........

g
(1) ATeATE - (2) wEfEw
(3) wTeATHD afx graf#s (4) IURH g+l

32. The primary data is collected by using the method :
(1) Questionnaire and Schedule method
(2) Observation and Interview method
(3) None of the above
(4) All of the above
W%mﬁ@wmmmmm%?
(1) seTeen o) SrgEEn faty |
(2) oracET X e At
(3) Iu=h F A B T

(4) ITAH A
33. What will be the first step for data presentation ?
(1) Categorisation : (2) Tabulation
(3) Both (1) and (2) (4) None of these
o7 Ry & R wewT =0T T B 7
(1) &rfieRToT (2) |IROTBIT
3) (1) 3R )3 | (@) T ¥ S A
34. Which of the following is not used for data-collection method ?
(1) Participant observation (2) Unstructured interviewing

(3) Research questions (4) Postal survey questionnaires
Prafafaa § @ S9-a1 S-gue A & g ST 787F frar sy D 7
(1) wfrEl TR (2) ITE=A HRITeRI

B SR, ST (4) ST QI U |
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35. Which of the following is not a type of purposive sampling ?
(1) Probability sampling (2) Deviant case sampling
(3) Theoretical sampling (4) Snowball sampling
frffa & | #e-ar SEeagel A=rRTor @1 gm 87 ¥ ?
(1) STEERET AHATHTOT (2) et AT FEHETET
3) a=iferer AR (4) EAE THATHTT
36. Histogram can be drawn with the help of :
(1) Discrete frequency distribution (2) Continuous frequency distribution
(3) Cumulative frequency distribution (4) Relative frequency distribution
e @ "o | dEr S gewar @
(1) Faad gy RAawoer (2)%*{3?3:@%{'% "
(3) d=Erdl gy faeRor (4) |mer gy faazer
37. The cumulative frequency distribution graph is called :
(1) Histogram (2) Frequency polygon
(3) Pictogram (4) Ogive
el AT ded TH HeA 8
(1) swraafes (2) TR SEIST
(3) R (4) AR
38. A circle in which sectors represents various quantities is called :
(1) Histogram (2) Pie chart
(3) Frequency Polygon (4) Component bar chart
T g9 Rred Bougs Rt aEnett @ afiffae s ¥, weaar @
(1) stmafes (2) UE =me
@) gy gy (4) FOH= I} TG
39. Data represented through a histogram can help in finding graphically the :
(1) Mean (2) Mode (3) Median (4) All of the above
STRRE 3 wremw § WA AT 3T WH T Q SR T HEE HT THA 8
(1) =y (2) SEEH (3) =R (4) I9<p aqH
| PG(Hons)-BE.june, 2023/(Economics (Hons.) Five Year)(SET-X)/(B) P.T.O.
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40.

41.

42.

43.

Pie-diagram is used for :

(1) Comparing different components and their relation to the total
(2) Representing qualitative data in a circle

(3) Representing quantitative data in a circle

(4) (2)or(3)

UTE-SRETH 1 SR R O ©
(1)ﬁﬁx=raza%fa%gama?hrmﬁ%mma’—sfﬂ

) g9 ¥ omHs ST W SINEIREECTSI

(3) g« o HAETES S BN AT HEAT

4) (2 =1 ©)

Which of the following is a method to measure the National Income ?

(1) Expenditure method (2) Income method
(3) Product method (4) All of the above
P & & Ae-d T o B e B R R
(1) =9 =&y () g fafy

(3) I fater (4) ITAH Tl

The difference between the National Income and the Net National Product at market
price is known as ............... :

(1) National debt transfer

(2) Current transfers from the rest of the world

(38) Net indirect taxes

(4) All of the above \ |

AR §ed OX TS T 3N Y& THA SR F = F HA A
wq F ST ST B |

(1) T FOT BRI

(2) AT Freg { T WIAFAT

(3) Y& IUTE DY

(4) SUH Gl

which of the following is not needed while considering the Gross National Product ?
(1) The net investment made by foreigners within a given period 4
(2) The total of private investments made within a given period .

(3) The total purchase of goods made by the government within a given period

(4) The total per capitaincome of the citizens of a country within a given period

PG (Hons.)-EE-June, 2023/ (Economics (Hons.) Five Year)(sET_x) /(B)
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o T SAR W RER #xd gy fretataa § 8 eal sTasasar 7@t
g7 | |

(1)@WW%WWM%WW§§%9T

(2) ush e om@fy & Y fhu g g ol FrasT

(3) T ffzEa aﬂfﬁ%%ﬁﬁ?ﬂwmaﬁﬁa@aﬁaﬁaﬁf@ﬁ?
(4)@%%@%%%%%%3%@@@%@

44. Which of the following is not a national concept ?

(1) GDPrc (2) NNPwmp ~ (3) GNPsc (4) NNPrc

fr=fefad & 9 H-9 IS0 SAgaRen 787 € ?

(1) GDPrc (2) NNPwmp (3) GNPrc (4) NNPrc
45. The difference between NNPyp and NNPkc is :

(1) Depreciation (2) NFIA

(3) Net Indirect Tax (4) All of the above

NNPvr 30X NNPre & S SfaX 8 ' 2

(1) g™ _ (2) TAUHSTEY (NFIA)

B) Y& STHHE HY (4) IU=H Al

46. If Net Factor Income Abroad is 0, then ........... X
(1) Domestic income will be more than national income .
(2) Domestic income will be equal to national income
(3) Domestic income will be less than national income
- (4) None of the above
AR Ry § g BB S 08, A e |
(1) R ot L o F e A
(2) N T AL A B TS BN
(3) R I THT T H FH BN
4) S & q P ALk

+ If Net Indirect Taxes are‘positive, then ............. -
(1) Factor cost will be less than market price
(2) Factor cost will be more than market price
(3) Factor cost is equal to market price
(4) None of the above

1:'G(Hcms )
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- 50.

PG(Hons.)-EE

48.

49.

2) =T I A e & e e

B) FHRF T FT TR TP X 2

(4) ST ¥ § B

Which of the following is included while calculating national income through value
added method ?

(1) Intermediate goods (2) Services for self-consumption
(3) Second hand goods (4) None of the above

AT aita vl & wom § s o @ o wRy 999 PRt & 8
8 i Rer e & 2

(1) 7ol aegq (2) @-3uAT & Rrg Jard
(3) X A e e (4) IO X Y PE WL e s

Which of the following is correct ? .

A

(I) GDPwmp = Value of Output — Intermediate Consumption
(2) NDPec= Value of Qutput — Intermediate Consumption
(3) GDPsc = Sales + change in stock

(4) NDPwmp = Sales + changé in stock

=1 § oi-ar @@t e ?

(1) GDPywp = SARSTYT I God — HGG T

(2) NDPrc = 3I3ege &l I — HeFal @ud

(3) GDPrc = fasht + Tefoam & aRed=

(4) NDPyp = farait+ w&forar & ufads

Which of the following is not a component of operating surplus ?

(1) Profit (2) Intermediate consumption
(3) Rent and royalty (4) Interest

Rrfafag #§ ¥ $-a1 Raes Uy & gew T8 87

(1) < S (2) AT IqAT

(3) faprar ST e . (4) =T
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Which of the following is the thing that is generally accepted by everyone as a
medium of exchange ?

(1) Money ‘ . (2) Goods
(3) Services (4) None of the above

ﬁmﬁ@ﬁﬁéﬁﬂ—ﬁa@ﬁmﬂ%mwﬁ%mﬁwmzmﬁm
Pk & S B 7

(1) g1 (2) A

(3) dad : (4)3qﬁaaﬁ@fa€rs‘a€i

On which things were not included in the Supply of mbney measure ?
(1) inter-bank deposits

(2) Demand deposits with financial institutions on a net basis

(3) Currency and coins are available to the general population

(4) Deposits with the Reserve Bank of India (RBI) in addition to the above
gﬂﬂ@%mﬁﬁﬂzﬁﬁﬁﬁsﬁa 7&f fopam T ?

(1) Fae-feh ST ,

) wwwwwm%mww

3) @WWWW%WW@I%
(4)3@?5%3@3:@?1%&325(@1)%%@

Commercial banks create money in the following ways :

(1) By issuing currency (2) By creation of bank deposits

(3) Neither (1) nor (2) (4) Both (1) and (2)

a5 FrefaEa adew § 8 F g P B

(1) & ST Hh () Fop = B AT HD

@) a1 IXAA (2 @) (1) &R (2) I

Which function of money, removes the problem of double coincidence of wants ?
(1) Measure of value (2) Medium of exchange

(3) Store of value (4) None of the above
@Waﬁ?—mmmwmaﬁ%aﬁ@ﬂaﬁmaﬁgm%?
(1) =T &1 "9 (2) fafFma @ ArEH

(3) T HI ¥R (4)3@?5%%@5‘%

p.T.O.
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55.

56.

57.

58.

B

In

- the present world, the act of purchase of goods, and sale of goods have been
; paraFed due to the existence of money. This has been facilitated by which of the
ollowing functions of money ?

(1) Store of value (2) Medium of exchange

3) Meas.ure of‘value (4) None of the above
T[HAM TR & awqell & w9 oK Ry @1 fpar, o= & sifterd & B0 AT
B T FE uw & SR st § § Reed awr g e o 27

(1) 989 &1 9sK (2) fafrmz =1 Ao
(3) TeF B/ HIT (4) SUAH F F BE A
M1 and M2 makes make up of :

(1) Narrow money supply (2) Broad money supply
(3) Broken money supply (4) None of the above

M1 3R M2 et a9 & v

(1) Hebrol F=1 STyt (2) =IH JA SR

(3) STfY=T gaT A TR (4) S9AH H § hg T

Which of the following is a step that the central bank will take to encourage greater
investment in the economy ?

(1) It will look to increase the cash reserve ratio

(2) It will look to reduce the cash reserve ratio

(3) It will look to increase the bank rate

(4) It will look to sell the government securities in the open market

Prefafag § § B9-9T Uh Had B, S A # fFRer B st 3 ot
Treaed T & T 5 Fe6 IS 7

(1) o7& -Thg SRR ST N ™ AT & W

(2) T% g STRIRA STIA & FF HTT I S W

When the Reserve Bank of India (RBI) raises the cash reserve ratio, it will :
(1) Decrease supply of money

(2) Increase the supply of money

(3) Increase the supply of money initially but decrease the supply

(4) No impact on money supply in the economy

023/(Economics (Hons.) Five Year)(SET-X)/(B)
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g aredra o F (sneEfiend) e SRIEE ST AgTT B, < FE BN
(1) eI S H _
(2) gA1 1 Agfr 7 gl

(3) 95 & g A oMt g A omgf w B

(4) @rderaEr # gar Syft uv A wee e

What does Repo Rate imply ?

(1) When cash is needed, banks can discount bills of exchange and obtain a loan from
the RBI.

(2) Banks give a premium rate to their high-value customers.

(3) The rate at which the RBI provides commercial banks with lending facilities
secured by government assets, with the requirement that the banks repurchase
the securities within a short period of time.

(4) Banks with excess cash can purchase securities from RBI on the condition that

they resell the securities to RBI on a predetermined date and at a predetermined
price.

G Y= AT 9T B 7

(1)@?@2&@@%%%@%%@%%@@@%%@?
RBI ¥ OT AT« &HT Th © |

(4)m{%ﬁﬁ?ma@faﬁﬁsﬂﬁrﬁﬂRBlﬁqﬁmaﬁtmﬁ%ﬁﬁaRBf
,ﬁ@ﬁﬂ%%ﬁaﬁgﬁﬁaﬁ?ﬁwwﬁ@ﬁaﬁméﬁa%l

The RBI's increase in the cash reserve ratio (CRR) will result in :

(1) Reduce the amount of money in circulation in the economy.

(2) Increase the economy's money supply.

(3) There will be no effect on the economy's money supply.

(4) Initially, boost the supply, but gradually reduce it.

e FARIET AT (ﬁmm)ﬁmmﬁﬁmqﬁvmm:
(1) aﬁmtmﬁamﬁmaﬁrwwaﬁh

() et 1 gE1 TR TE

(3) @dammzﬁgmaﬂgﬁﬂaﬁiﬂﬂﬂﬂﬁ@’ﬂl

(@) s &, oo A, A SR T BT

; I’,:T.,O-
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61.

62.

63.

64.

PG(Hons.)

Gossen's First Law iS ......co...... .

(1) Law of Diminishing Marginal Utility
(2) Law of Demand

(3) Surplus of the Consumer

(4) Law of Equi-marginal Utility

M o1 9o a8 .. |

(1) AN gFiq SR &1 FEE
(2) =11 @1 FEE

(3) SUARHI HT HIAH

(4) G9-Tmia ITAREr @ FEm

Characteristic of utility is/are that .......... ;

(1) Utility is subjective

(2) The utility is a relative concept

(3) The utility is a psychological phenomenon
(4) All of the above

ST @ Adwar 2/ 6 ...l |
(1) ITAREr ARFIE

(2) SUANET TH AN STEIROT B

(3) ITANFET TH A qeAT @

(4) ST Gl

Ability of a good to' satisfy the human want/desire is ................ .
(1) Satisfaction (2) Productivity  (3) Profitability = (4) Utility

AME @ SeuT/Adr B Y B b Y Th = eHar L 2
(1) Egfte (2) IcdrEshdl (3) <THuEdl (4) I

When income of consumers rises, they reduce their consumption of .............. :

(1) Normal goods (2) Giffen goods

(3) Inferior goods (4) All the three

o SurEeT @ o ¥ ghw BT A St BT IAHFT HH
HT 3d o g

(1) @ €Y (2) Frebey gy

(3) afe AN 4) i =
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. 65. Which approach is used to measure the elastidfy of demand ?

66.

67.

68.

PG(Hons.)-EE-]une, 2023/(Economics (Hons.) Five Year)(SET-X)/(B)

(1) Point Method (2) Percentage or Proportionate Method
(3) Total Expenditure Method (4) All of the above
maﬁ@aaﬁq@%m%ﬁﬁmwmﬁmm%?
1) Rig fafE (2) sfrgr ar stgicren fate
3) B == R 4) ITA<h gl

The ordinal utility concept express the utility in terms of :

(1) Level of satisfaction (2) Constants

(3) Units (4) None of these
Wﬁﬁmﬁﬁmmms@ﬁmaﬁw_maﬁaﬂ?ﬁ%:
(1) |FFE H &' (2) Feris

(3) SehrAl (4) 31 & B T

When the price of commodities ‘X' declines than increase in demand for goods 'Y,
both goods are :

(1) Substitute goods (2) Complementary goods

(3) Not related (4) Competitor
aaaiﬁ-'xﬁaﬁﬂﬁaﬁ%‘cﬁa@'va‘ﬁfmﬁq@@%ﬁ%,aﬁa@i%:
(1) T Y (2) T &

(3) geifera =& C (4) wRER

Why are indifference curves convex to the origin ?
(1) Two goods are perfect complementary goods.
(2) Two goods are imperfect substitutes. :

(3) Two goods are perfect substitutes.

(4) None of the above

| SeriiT o T Rig @ K gH A ¥ 7

(1)%@@1;@@&%%
@) & aeq oTgel T ¥l

(3) & aeqd got T E 1

(4) SRR6 F F HE T

P.T.O.
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69. A consumer reaches the point of equilibrium when :
(1) MRSxy > Px/Py (2) MRSxy < Px/Py |
(3) MRSxy = Px/ Py (4) None of these !
U FUHHT T @ Rig oX ggEer o
(1) MRSxy > Px/Py (2) MRSxy < Px/Py
3) MRSxy:Px/Py (4) 399 O HF TS
70. A shiftin budget line, when prices are coﬁstant, isdue to:
(1) Change in demand (2) Change in income
(3) Change in preferences (4) Change in utility
B B ReR WY R T Y@ F gaer Hr Hreer T
(1) JFT & qiteds (2) e # gRed=
(3) TTarsTt F ofgds (4) STAFET # oftedT

71. Which of the following is a characteristic of a mean ?
(1) The sum of deviations from the mean is zero
(2) It minimises the sum of squared deviations
(3) Itis affected by extreme scores
(4) All of the above

Frfeiea & & P wrem o Afwar S 7
(1) =mer & faes & 997 g7 @
(2) T& goa e & AF1 B H pear ©
(3) & =TRHA WHIX q g9ifad ar 2

(4) Sudh |t
72. What is the mean of the following numbers : 23,45, 87, 40, 50 ?
1) 49 (2) 34 (3) 56 (4) None of the above
FrfaRad Searstt &1 arey a7 R - 23,45,87,40,50 ?
(1) 49 (2) 34 (3) 56 (4) SRFT ¥ § P

73. Which one of the following statements begt describes the mode measure ?

(1) It gives us the most common score in a datq set, which will change if you
rearrange the scores in any order, ;

(2) It gives us the most common score in a data g
rearrange the scores in any order.

(3) Itis always greater than or equal to the mean of a data set.

(4) None of the above '

et, which will not change if you
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TReaey 3 ¥ Praar wuq 21

(1)?:{3@3?[@_‘:ﬁ A T qEQ ST\ FUA HIAT T ?
It TG G R T B, S RRE o A A 'R @
T I Fae S |

(2)?3{‘6'355;32.[
e e F g gErm X AT B, o BeEr W wmH A 'R A
FHIA 9T TE TG |

&
(4)mﬁﬁ%ﬁmﬁmmmw@m%.

............... ls mo t f

g) Arithmetic Mza;equenﬂy i G(l;)ta 1:,4&;32

. .). .Medlanm (4) Allof the above
1 3R 9} 3@ S aTeT S A 2|

(3) =zrem (4) ITAH A

If the values of two variables move in the same direction, the ............... )
(1) The correlation is said to be non-linear

(2) The correlation is said to be linear

(3) The correlation is said to be negative

(4) The correlation is said to be positive

afx o = B A9 uH & Rem F Fe F, AT e |

(1) gedds @ IR-XRgew HeT S ¥

(2) TeEsy B WS Her Sl &5

(3) FEEET P FAHED HEl S ?

(4) TEEE H FHED B S g

helps us find out percentage change in the values of different variables

over time.
(1) Dispersion (2) Correlation
(3) Index numbers (4) Price index
........... @W%WWﬁ%@ﬁﬁSWWWWW
¥ Heg B & | B
Q) & (2) weHST '
(3) GIDID [SICRIS (4) T gIHih
............ s the percentage ratio of the value of a variable in the current year to its

value in the base year.
(1) Price relative
(3) Linear index

June, 2023/(E.conomics (Hons.) Five Year)(SET-X)/(B) SPUTD.

(2) Simple index
(4) Complex index
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............ ewrrmi‘ﬁl‘wﬂ‘v‘i@%%mwwﬁ@m%wm,
wfverer orgurer ¥ ' |
(1) 5&d wer (2) @O GEhieh
(3) e Qeehieh (4) STfew gEehich

78. Which of the following is/are the feature(s) of index numbers ?
(1) Index number measured relative changes
(2) Index number is a quantitative expression
(3) Index number show changes in terms of averages
(4) All of the above

Rrefefad & § Be-aed el el @ R 8/8 7
(1) gohies T ATq |aer giads

(2) gEHIH T AEH AR 8

(3) guhies T oNud B Haof # qRadw Rawd 8

(4) STATH | b

22

79. Read the folloWing statements given below and choose the correct alternative :
Statement 1 : The consumer price index helps in the formulation of price policy.
Statement 2 : The consumer price index does not measure the real value.

(1) Both are correct
(2) Both are incorrect
(8) Statement 1 is correct and statement 2 is incorrect
(4) Statement 1 is incorrect and statement 2 is correct

M Ru 7w wHeE & afew o) &l fReea @1 == @Ak -
HYT 1: ITARAT T Gehich God i & fFmfer § gqeg s )
HYUF 2: ITHHN Tod Gohich AR T 1 &l HIar |

(1) A7 & &

2) A TAT B

(3) AT (1) TE B X =9 (2) 9T B

(4) HET (1) TIT & N HET (2) W B

80. Which of the following is/are the method(s) of constructing index numbers ?
(1) Simple aggregate method
(2) Simple average of price relative method

(3) Weighted average of price relative method and weighted aggregate method
(4) Allof the above

pG(HonS-)'EE'June’ 2023/(Economics (Hons.) Five Year)(SET-X)/(B)
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m@aﬁ%aﬁrﬁwmﬁw@wwm%m%/ﬁ?
(1)8'{5'717{1?’3{%\:‘3

(2)1@@&{%&:@%@%-
(3)5(@1@&%&:@-{%@@%@@%%

(4) SRH Tl

Which of the following is not an objective of Government budget ?
(1) Redistribution of income and wealth

(2) Export promotion

(3) Social welfare

(4) Economic stability

Rrfefad & @ Be-ar awH S & 2w 788 7

(1) 3= ST o & gAfaaeer

(4) e R

Which expenditure will either create an asset or reduce the liability of the
Government ?

(1) Revenue expenditure (2) Capital expenditure

(3) Capital receipt (4) Revenue receipt
W—mmmﬁ@qﬁﬁqﬁwmﬁmmw%a@aaﬁm
HJM 7 :

(1) I =TI 2) T =

(3) dofrma i (4) o wfe
Subsidies and expenditure on scholarship are examples of :

(1) Revenue expenditure (2) Capital expenditure
(3) Capital receipt (4) Revenue receipt
BEgiT WX Gt o =T IEET g |

(1) o T B 2) v =9 &

(3) gotrma wif & (4) T T &

If the Government estimated receipts are less than estimated expenditure, then it 18
termed as :

(1) Surplus Budget (2) Deficit Budget
(3) Balanced Budget (4) All of these
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85.

86.

87.

B

A W e g @ O B, @ g& w1 ST

(1) Ry ore 2) TR P S

(3) TgRe o= © () ¥ |

In case of some capital receipts, thereisa ............ to return the amount with interest
at a future date.

(1) Future obligation - (2) Contingent obligation

(3) Past obligation (4) None of these

@Fﬁm%qm%ﬁ,mwﬁwwma%ﬁmrmaﬁﬁ%m

(1) WS @ Sregar (2) STERHeR STl

(3) ear e (4) 79 9§ Fg B

Which economy produces the goods that can be sold in the domestic or foreign
market for profit motive ?

(1) Capitalist economy (2) Socialist economy

(3) Mixed economy | ' (4) None of the above
Wﬁa@w&ﬁwﬁwwmﬁ%%@w%@m%aﬁm
el soR & S S wear ® 7

(1) gsTrarel svelemaen PARSEISCIRI e E i)

(3) P sreferaeen 4) ¥ F B T

The economy which produces only those consumer goods, which are demanded by

the buyers and which can be sold in domestic or foreign markets profitably is known
as:

(1) Market economy (2) Capital economy
(3) Both (1)and (2) (4) None of the above

g SRIIAE Y HaA IT ITARHT FEGSAT H IR qv(cll%i‘?ﬁ‘r‘ﬁf‘ﬁ?nﬂmﬁ

I AN @ O B iR R aRq o1 RRsht sl § sraww w9 @ = ST
'G{Eﬁﬂ'[%,aﬁgaﬁ%:

(1) SR Sfeferereett (2) Ul aTeferasen
3) (1) 3R (2) @) ST F F B 7
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Which of the following is the outcome of the globalisation of a country's economy ?

(1) Outsourcing (2) Privatisation

(3) Liberalisation (4) None of the above
asTaﬁaTeimw%%szﬁmwaﬂqﬁwmﬁmﬁaa?mw%?
(1) SRR C(2) Pt

(3) TEAHTT (4) ST ¥ & g

The economic reforms under the New Economic Policy of 1991 were made Sso
that ...ssswmms ; : '
(1) the government would drive the economy towards development and growth

(2) market forces would drive the economy towards development and growth

(3) the public would drive the economy towards development and growth

(4) None of the above
199laﬁﬂéeﬂf§$:ﬁ%%a€am§aﬁmﬁmwaﬁ% .......... I
(1) ﬂwaémwaﬁﬁmeﬁtﬁﬁraﬁaﬂ‘{%w@ﬁ

(2) Wﬁmﬁaﬁm&naﬁmﬁﬁwﬁaﬁaﬁ%ﬂ@ﬁ
(3)@1%31%@%251@@?3?%@@?%@

(4) aqﬁ?ﬁﬁ@rﬁs‘qﬁ

Many products from small-scale industries were ............ after the industrial sector
was deregulated in 1991. :

(1) De-reserved (2) Reserved

(3) Both (1) and (2) are correct (4) Bc;th (1) and (2) are incorrect
1991ﬁaﬁ@ﬁﬁ%aaﬁﬁﬁﬁﬂ%mwﬁ%mﬁge@ﬁ%aﬁm
.......... | ,

(1) STATIET (2) STRIETT

@) (1) AT (2) T T 2 @) 1) IR -(2) T T B

Short-run production function shows the functional relation between ........... for a
short period. -

(1) Costand revenue (2) Materials and matters

(3) Input and output (4) Functions and equations

2023/(Economics (Hons.) Five Year)(SET-X)/(B) >P. T. O.




26

92.

93.

TR IR B A @ B R e

EEUCIEY
(1) @rE o) T (2) ER SR AT
(3) gge AR AP (4) T ST FHDTT
: N e
Which of the following is not considered production 1n Economics ?
(1) Tilling of soil by farmers (2) Singing a song before friends.

(3) Construction of Canal by laborers '(4) Painting a picture for sale
Prefafad & & Red ordemes & S 787 AT S § 7

(1) et amr g & s (2) Art & @EA T AT
(3) AoTG &R Y o FmEior (4) Rehr & foq ot ST

Economies of scale means increasing production with ........... per unit.

(1) Increase in total cost (2) Decrease in average cost

(3) Decrease in marginal cost (4) Decrease in total cost ,
Jar 9 Srefeyaen @ ot IR ghe B G ... gfer g8 B |
(1) % & A gha ' () sfraa @ # @

(3) dig ara & A (4) BT & H H

94. Variable costs are :

(1) sunk costs
(2) multiplied by fixed costs
(3) costs that change with the level of production

(4) defined as the change in total cost resulting from the production of an additional
unit of output

e @rg ¥

(1) g dra

(2) FfyEa sr | en

(3) P S SERH B WX B 9™ Gedl B

(4) SR 9 3 Sare 3 wRUHEEY FW@ ar @ oRads @ @9 §
sRwifya fpar T 2
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If the short-run average variable costs of production for a firm are rising, then this
indicates that :

(1) average total costs are at a maximum.

(2) average fixed costs are constant.

(3) average variable costs are below average fixed costs
(4) marginal costs are above average variable costs.

uﬁ@w%mmaﬁaﬁqﬁaﬁﬂsﬁawma@@%a-
g ggar & & -

(1)afraﬁaamawmzﬁaq€rcﬁ%u
(2) Fafeaa ohaa arm Rex &t 81
(3)%%@%%,%&%%%%%%%

(4)zﬁqﬁam,qﬁaﬁ7ﬁuaﬂwamﬁwéﬁﬁ%l

Opportunity cost of an unemployed youth in past now getting job worth Rs. 7500/-
per month is ................ : .

(1) Nil (2) Infinite (3) Rs. 7500 (4) Negative

atdig ¥ AAT AT, ar 7,500 BT sRrTE Y MRl e W@ oS FaET T
.......... 21 !

(1) A (2) eaffHa (3) So 7500 (4) ABRIHD

................. refers to the total amount of income received by the firm from selling a
given amount of its output.

(1) Average revenue (2) Total revenue

(3) Total fixed revenue (4) Marginal revenue

wﬁma@mﬁﬁaﬂérﬁa@r%ﬁ%.mmﬁajﬁ

............

(1) NEd e (2) FHA T
(3) F Ffvea T (4) AT T

When total revenue is maximum, marginal revenue is ........... .

(1) Maximum (2) One (3) Negative (4) None of the above
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99. ....cveienn of a commodity is the total amount of commodity available WHeHHE

producers at any given time.
(1) Supply (2) Actual Supply
(3) Stock ‘ (4) Elastic Supply
.......... ma@ﬁmsﬁwm%mm@mﬂﬁaw
2
(1) SR (2) aretaes SR
(3) <sfran (4) e SR

100. The imposition of heavy taxes on a commodity will ...........- the supply-
(1) increase (2) decrease
(3) not to be related (4) - None of the above
frel geg OX Wil BT @I J g H ... BT |
(1) = (2)
(3) Heifer &t (4) SUA<H F | HF Al
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1. Gossen's First Law [ IOt O .
(1) Law of Diminishing Marginal Utility
(2) Law of Demand
(3) Surplus of the Consumer

(4) Law of Equi-marginal Utility

:ﬂ—a:famqaqﬁi?m% ......... l
(1)Wwﬂmﬁmﬁrﬁmwﬁm
(z)xﬁﬂaﬂﬁmq

(3) ITHHT B DN
(4) TH-EHIT START &

' 9. Characteristic of utility is/are that ......... _
(1) Utility is subjective
(2) The utility is a relative concept
(3) The utility is a psychological phenomenon
(4) All of the above
IgRET @ afwer /28 B o |
(1) ST SfRmRSs B
(2) STAMET T e FEUROT B

3. Ability of a good to satisfy the human want/desire is ............... !
(1) Satisfaction (2) Productivity (3) Profitability (4) Utility

Wﬁm/mﬁa@zm%mwaﬁzﬁm ................ gl
(1) sgfe (2) SeATEehe (3) SATHSIET (4) SUAMAT

4. When income of consumers rises, they reduce their consumption of .........ooees .
(1) Normal goods (2) Giffen goods
(3) Inferior goods (4) All the three
meaﬁa%mﬁq@aﬁ%,ﬁam ........... HI ITEN HH
FT 3 )
(1) | e (2) = Il
(3) ufean Ay (4) Tl =t

P
G(Hons)-EE-June, 2023/(Economics (Hons.) Five Yean)(SET-X)/(C) P.T.O.



5. Which approach is used to measure the elasticity of demand ?

(1) Point Method (2) Percentage or Proportionate Method
(3) Total Expenditure Method (4) All of the above
i B S B AT B R Ree gfteier @ wd Bear o ® 7
(1) fag fafa (2) wfarerer ar egaTferen fafer
3) & =g fafy (4) IU<H GH

6. The ordinal utility concept express the utility in terms of :
(1) Level of satisfaction (2) Constants
(3) Units (4) None of these
HAGEH ST FTYRON ITANAAT P 56 THRX SAH B &
(1) ggfte &1 'Y (2) Rertien
(3) FehrAl (4) FF & B T

7. When the price of commodities 'X' declines than increase in demand for goods "Y',
both goods are : '

(1) Substitute goods (2) Complementary goods

(3) Not related (4) Competitor

S A X B ged ¥ A awg Y @ A ghe o ¥, AR awgd ¥
(1) T AR | (2) T I

(3) wiftr e o (4) wfoEER

8. Why are indifference curves convex to the origin ?
(1) Two goods are perfect complementary goods.
(2) Two goods are imperfect substitutes.
(3) Two goods are perfect substitutes.
(4) None of the above

SETEM %6 o f&g @ R gH M e © 7
(1) A g o e awgd A ¥

(2) A TEGT 1gel wETE

(3) T TERE Yot wyeg= ¥

4) SUAH | q PE T
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9. A coﬁsumer reaches the point of equilibrium when :
(1) MRSxy > Px/Py (2) MRSxy < Px/Py
(3) MRSxy = Px/Py (4) None of these
Q% IUHH dger B [6g 9T Ige § S
(1) MRSxy > Px/Py (2) MRSxy < Px/Py
(3) MRSxy = Px/Py (4) 379 9 HIZ I

10. A shift in budget line, when prices are constant, is due to :
(1) Change in demand (2) Change in income
‘ (3) Change in preferences (4) Change in utility
FEdl & ReR T X I @1 H 98dd B BRI E

(1) "1 & qReds (2) g F gREcH

(3) adgarett # aRkads (4) IgAfar & gfkacd=
11.  Which of the following is a method to measure the National Income ?

(1) Expenditure method (2) Income method

(3) Product method (4) All of the above

fFr=fafea 7 9 #-dr asfig e @ 59 @ fafy @ 7

(1) =g fafy (2) HAT fafy

(3) Icurg fafer (4) SURH T

12. The difference between the National Income and the Net National Product at market
priceisknown as ............... ;
(1) National debt transfer
(2) Current transfers from the rest of the world y
(3) Net indirect taxes
(4) All of the above
Wg@wn@umﬁr%r@am%aﬂa%wﬁ ......... %
Y F SET Srer 2 :
(1) T o7 EeqiaRor
(2) AV fyeg & gdqe ETATIT
Q) = TwHer FX
(4) SRF Gf

PG .
(Hons')'E,E']une, 2023/(Economics (Hons.) Five Year)(SET-X)/(C) P.T. O.



c

13.  Which of the following is not needed while considering the Gross National Product ?
(1) The net investment made by foreigners within a given period
(2) The total of private investments made within a given period
(3) The total purchase of goods made by the government within a given period
(4) The total per capita income of the citizens of a country within a given period
dbet USHA IE 9T RER & aug fpefafaa 8 A e wasase 987
87
(l)@ﬁﬂmim%ﬂﬂmﬁ%ﬁ@mmwsyzﬁ%m
(2) u MivEa srafa & o fg o g feh fder
(B)Qmﬁﬁaaaﬁm%ﬂﬁﬁrmmﬁn%aﬁaﬁﬁaﬁw
(MQHSWHW%WM%ST%W%I@H%W eI

14. Which of the following is not a national concept ?

(1) GDPyc (2) NNPwp (3) GNPk (4) NNPj

Frafefed & @ P9-&@ o sgereon TET R ?

(1) GDPyc (2) NNPump (3) GNPgc (4) NNPgc
15. The difference between NNPwMmp and NNPyc is -

(1) Depreciation (2) NFIA

(3) Net Indirect Tax (4) All of the above

NNPvp 3R NNPre & &= oy &

(1) Jeaera (2) TAUHHAET (NFIA)

(3) 9= ITH=ET HY (4) IUA<H g

18. If Net Factor Income Abroad is 0, then ...... L o r
(1) Domestic income will be more than national income
(2) Domestic income will be equal to national income

(3) Domestic income will be less than national income
(4) None of the above
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17. 1If Net Indirect Taxes are positive, then ............. ,
(1) Factor cost will be less than market price
(2) Factor cost will be more than market price
(3) Factor cost is equal to market price
(4) None of the above
af% grs TITE BT THERHD &, Al ooovenenn |
(1) HH AN T g7 q HA BN
(2) HRH AR IR g | A Erf
(3) HRH AN TR I & &K 8
(4) ITUH & | Hg TE

18. Which of the following is included while calculating national income through value
added method ?

(1) Intermediate goods (2) Services for self-consumption
(3) Second hand goods (4) None of the above

I i qsfq & "1 @ U o™ # oM hia @9y Frefanad § 9
fepa enfae fpar st @ °

(1) Aegaat aegy (2) T-3I99T & e /amd
(3) gUHT HIA (4) I9A<H H & H5 T81

19.  Which of the following is correct ?
(1) GDPwmp = Value of Output — Intermediate Consumption
(2) NDPsc = Value of Output — Intermediate Consumption
(3) GDPrc = Sales + change in stock
(4) NDPwp = Sales + change in stock
M= & & e @@ e 7

(1) GDPw = STSege &1 goa — Hezerd! @aq

» (2) NDPre = 3TSeqe & ged — Hegadt @aq
(3) GDPrc = Tt + vefrar & ufads
| 4) NDPywe = faft + wefern & ofads

P
G(Hons-)-EE-]une, 2023/(Economics (Hons.) Five Year)(SET-X)/(C) P.T.O.




?
omponent of operating surplt

. Which of the following s notac |
e : consumption

(1) Profit

(3) Rentand royalty

fperferirer B Q@ aleran alveErer it
(1) @™

) fpam ol i (4) ST

(2) Intermediate
(4) Interest

an @ wewn T BY
(2) st Fq

: ; . \ ] it ?
21. Which of the following is not an objective of Government budget

(1) Redistribution of income and wealth

(2) Export promotion

(3) Social welfare

(4) Economic stability

Rpsfeiiaa & @ @ear e qore & aRed 78R 7
(1) o iR w1 gAfderon

2) Mot dedmed

(3) GHIST ™o

(4) onfdien ReRan

22. Which expenditure will either create an asset or reduce the liability of the
Government ?

(1) Revenue expenditure (2) Capital expenditure
(3) Capital receipt (4) Revenue receipt
DA-a1 =9 T @ UH qREuiRt & FET wem ar e e ®@ 5
HET 7
(1) o &g (2) goiira =ag
(3) goirTe i (4) ToTE wiig

23. Subsidies and expenditure on scholarship are examples of :
(1) Revenue expenditure (2) Capital expenditure
(3) Capital receipt (4) Revenue receipt
BEgRT X aftadt ofiv e eerr ¥
(1) T =Ty & (2) Yol = &
(3) GSINTer s & (4) ot wiig &
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24. If the Government estimated receipts are less than estimated expenditure, then it s

termed as

(1) Surplus Budget (2) Deficit Budget

(3) Balanced Budget (4) All of these

;Tf’t qrere A srpmfaa wifert sepnfae e & #w @t B, N g3 am e
(1) sfadm gore (2) =12 H FAC

(3) dafee gz 4) 3

In case of some capital receipts, thereisa ............
at a future date.

(1) Future obligation (2) Contingent obligation

(3) Past obligation (4) None of these

B gh wiftedt $ amer F, smmh gyg 9v s afeqd afa amd #79 # fan

to return the amount with interest

(1) wfa=a & aregen (2) 3RS ATEHAT
(3) feen =ifaeE (4) 378 & HI3 el

Which economy produces the goods that can be sold in the domestic or foreign

market for profit motive ?

(1) Capitalist economy (2) Socialist economy

(3) Mixed economy (4) None of the above

-1 g 4 aEgel B IR w2 R o & IBeF § @Y A

fa2eft arome & =7 o ghar & 7
(1) Jofrard sredemaear (2) TETTaTET qdHTET
(3) fafaea wdemasn (4) 399 9 FI3 ABl

The economy which produces only those consumer goods, which are demanded by
the buyers and which can be sold in domestic or foreign markets profitably is known
as
(1) Market economy (2) Capital economy

(3) Both (1) and (2) (4) None of the above

Mmémmﬁmmmﬁwaﬁﬁwwmﬁmﬁmﬂ
B mbn A ot B o B el @ kel smomd & arvwe w9 & &€

a%en B, wmearh B
(2) goh arefegeen

(1) &7 srdfegeaven
4) Igerd X @ Hg FAE

3) (1) 3hz (2) At
P.T.O.
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- ?
o of the globalisation of a country’s economy

(2) Privatisation

(4) None of the above

a1 ufrom feer # A #ra-ar & 7
(2) FsfeRToT

(4) it H H FIE AB

28. Which of the following is the outcom
(1) Outsourcing
(3) Liberalisation
Ngr A arderair @ ATl
(1) snaeafd
(3) 3uTdETI

/ ic Poli 1 were made SO
29. The economic reforms under the New Economic Policy of 199

BABE oovs gt nens :
(1) the government would drive the economy towards d

(2) market forces would drive the economy towards development and growth
(3) the public would drive the economy towards development and growth
(4) None of the above
1991 &) ¢ s i B qea s gar gafm BB T ands |
(1) aee srderaeen &) famr o 3=l & A & AT
(2) &I A e seeraear & e A F FH AT A G
)
)

evelopment and growth

(3) ST syfeqar ) famra ahe I=fe #1 a7 SO

(4) 3uden A B TE
30. Many products from small-scale industries were ............ after the industrial sector
was deregulated in 1991.
(1) De-reserved (2) Reserved
(3) Both (1) and (2) are correct (4) Both (1) and (2) are incorrect
1991 # shenfres @ a fafrafoe o s & g &g 3= & &3 3R
.......... o |
(1) sr=rrfeer (2) HAf#AT
3) (1) 3 (2) a4t @d ¥ (4) (1) 37 (2) 241 Taq B
31. Whi?l_ does the fiscal deficit related to under the government budget ?
(1) Taxes shortfall (2) Disinvestment shortfall
(3) Borrowings requirement (4) Disinvestment requirement
e gste F siadea A qrer ey dd9tag 7
(1) &% & wf (2) fafasr i = |
(3) IUTT &1 v A (4) fafas #r snasgwar §
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32. The measures taken using the government budget can impact to :

(1) Resource allocation (2) Inequalities
(3) Inflation (4) All of the above

AIEH T2 FH ITINT Fih [T T IqT THIad HT Thd & -
(1) dar99 3ded (2) STHHATATST i
(3) HETERITT A (4) IYAH AT Hr

33. The difference between which two factors constitute primary deficit ?
(1) Revenue deficit and fiscal deficit
(2) Total expenditure and revenue receipts
(3) Interest payments and revenue deficit

(4) Interest payments and fiscal deficit

fop1 &1 @®eRl & &g @1 SFdY urefdes =Ter S9ar ® 7
(1) =TT =917 3R TSR greT

(2) /A HT AR o FTST

(3) &S I AR ST greT

(4) =TS YA A TSTHEE =TT

34. Which of the following statements is true about the fiscal deficit ?
(1) It is the difference between the total expenditure and receipts of a government

excluding interest.
(2) It is the difference between the total expenditure and receipts of a government

excluding spending.
(3) It is the difference between the total expenditure and receipts of a government

excluding borrowings.
(4) It is the difference between the total expenditure and receipts of a government

excluding taxes.

TSTBNY 81 & R & fr=afafad § & s0-ar &9 g e ?

(1) 98 &1 Hl BIgHT THR & FHol AT AR AHGT & &g @l A< 8|
(2) T8 @ & BISH HRX & FHT FF AR Ffcdt & 9 H7 AT B |
(3) T® IYR =l BITHT TXHR B FA AT AR wicaat H &g &1 I 2
(4) ¥ HA H BB BN & FHa FT A giiwdt S g 1 3w B
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35. Which of the following statements about the capital budget is accurate ?
(1) The capital budget consists of direct and indirect tax. ' .
(2) The capital budget consists of capital expenditure and capital receip s. |
(3) The capital budget consists of revenue expenditure and revenue receipts.

(4) The capital budget consists of direct taxes.

T a5t & IR F Fraffag & § @ar sug g8 & ?
(1) STrr sote F soger o aoreger a7 anfdrer a1 ¥

(2) I F512 F G a7 olR Oofirg siferat snfrer @it ¥ |
(3)Wwﬁmmmwwsnﬁa@?ﬁ%a
(4) TP s F gover &7 a1y ¥

36. Which of the following statements describes the function of a budget ?
(1) Itisa description of the income and expenditure of a government.
(2) Itis a document containing details of the economic policy of a government.
(3) Itisa description of the programs of the government.
(4) All of the above
ﬁw%f@ﬁﬁ@aﬁq-mww%mwaﬁw%?
(1) %@Wﬁaﬂuaﬁmmﬁ'ﬂw%l
(2) wwmﬁa%ﬁrﬁﬁﬂwﬁeﬂ%%aﬂﬁaﬁtﬁm%l
(3) & PR & HrpAt 1 fgeor T
(4) STAH |

37. Which of the following statements is not accurate about non-tax revenye receipts ?

(1) Disinvestment, external grants and dividends & profits are examples of non-tax
revenue receipts

(2) Disinvestment, dividends & profits are examples of non-tax revenue receipts -
(3) Goods and Services Tax is an example of a non-tax Tevenue receipt

(4) Disinvestment and external grants are examples of non-tax revenue receipts

%ﬁaﬁ-wmﬁ—mmm%aﬁﬁw TE R 7

(1) %ﬁam,arrgﬁa?@crmaﬁ*{m'srqa'wﬁ?— '
N BT TR S gareor

(Z)ﬁﬁ‘aﬁnmraﬁ?w%—aﬂwm%mﬁ,
(B)quémwﬁr—mmmm@m%,
(4) AT MR ey srger —quﬁ?ﬁ%mgl
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38.

39.

40.

41.
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The amount received by the Government in the form of intere st, fees and dividends is
known as :

(1) Tax-revenue receipts (2) Capital receipts

(3) Non-tax revenue receipts (4) None of these
TR &R =, gpeeh SN anwier & wq &y 7197 7 Hal 571 B
(1) T it (2) Goferer s

(3) M- I ot (4) g7 | Fg TEf

The amount received by the Government in the form of taxes and duties is known as :

(1) Capital receipts (2) Tax revenue receipts

(3) Non-tax revenue receipts (4) All of these

AR ERT HU A g & w9 X urey &1 oy aelt afer weer 2
(1) sfrmer st (2) T T AifeTar

(3) M-FHX T it 4) T T

The expenditures which neither create an asset, nor reduce any liability for the
Government is called :

(1) Revenue Expenditure (2) Capital Expenditure
(3) Both (1) and (2) (4) None of the above

¥ Fg W A A R giEur giia & & R F & aeer & fAu il
A T FH HA &, FHeAR &

(1) ST =g (2) goirT =2
3) (1) X (2) AT (4) IYVHRT H | g TE

Which of the following is a characteristic of a mean ?
(1) The sum of deviations from the mean is zero

(2) It minimises the sum of squared deviations

(3) Itis affected by extreme scores

(4) All of the above

Frfeiaa & & @=-d Aqreg & Qa8 7

(1) = & Rraes @1 drT g 8

(2) g8 e feer & AT B HA BT B

(3) & =W wHIT & gt B 8

(4) IuT=h |
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42.

4s.

What is the mean of the following numbers : 23, 45, §7, 40, 507

(1) 49 (2) 34 (3) 56 (4) None of the aboy ¢
Prfaftaa dEmalt & [rey & R 0 23, 45,87, 40, 50 7

(1) 49 (2) 34 (3) 56 (4) TINFT A B B ap

» ' Y » y 7

Which one of the following statements best describes the mode measure

(1) Tt gives us the most common score in a data set, which will change f yoy
rearrange the scores in any order.

(2) It gives us the most common score in a data set, which will not change 1if you
rearrange the scores in any order.

(3) Itis always greater than or equal to the mean of a data set.
(4) None of the above
fr=fofed & @ 191 F99 Fgas 99 & g=q o= ol H7ar ¥ 7

(1) 78 &" 3T A & 9«98 HH=g @) 397 8, o R ot &5 & s @
g F 9T ggs S

2) @& BH 21 Qe ¥ 9@ g @ a1 &, o R oft 9 & = 8
Ao & a¥ TE agen |

(3) I8 BHIM 2T A< P Heg A AP 1 IFH qOET arer 2
(4) ITAH & QA HE T8

............... 1S most frequently observed data value.

(1) Arithmetic Mean (2) Mode

(3) Median (4) All of the above
.......... g8 A% X @1 AW aren 2o " 2
(1) SfHTOITg ATeg (2) a&TH

(3) Hrfegen (4) I9A<H g

If the values of two variables move in the same direction, the
(1) The correlation is said to be non-linear

(2) The correlation is said to be linear

(3) The correlation is said to be negative

(4) The correlation is said to be positive

A & 9 & A ug & R § g ¥ a)
(1) Tegdy # hv-Yas wer oar

(2) TegEyg F Weas w1 sty

(3) HBHEY & ABHF HET AT B

(4) GBEEYT H GHEHF FHB] AT B
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46. .-.o-... JRRTEPRS helps us find out percentage change in the values of different variables
over time.
(1) Dispersion (2) Correlation
(3) Index numbers (4) Price index
SRRRRRIPPS aﬁw%wﬁ%aﬁ%ﬁaﬁﬁgﬁsmqﬁaﬁqam'mnmﬂ
7 Hag Hrar ¥
(1) BT _ (2) Hedsy
(3) TPk GEmT (4) 93 g=ehish
7.7 AR is the percentage ratio of the value of a variable in the current year to its
value in the base year.
(1) Price relative (2) Simple index
(3) Linear index (4) Complex index

............ meﬁmw%mwwﬁwm%aﬁqw
SfTSTeT STUTT 2 |

(1) ge9 9y ' (2) HTERT IHhich

(3) YRaH Ferhich (4) ST gerepich

48. Which of the following is/are the feature(s) of index numbers ?
(1) Index number measured relative changes
(2) Index number is a quantitative expression
(3) Index number show changes in terms of averages
(4) All of the above

e & & A9-ared gesiss el @ [y /8 7
(1) FIpics &1 A9 grer qikeads

(2) =i T qETHE ARy

(3) orpih de g & daxt ¥ gRady Ry

(4) IUP g

49. Read the following statements given below and choose the correct alternative :
Statement 1 : The consumer price index helps in the formulation of price policy.
Statement 2 : The consumer price index does not measure the real value.

(1) Both are correct

(2) Both are Incorrect

(3) Statement 1 is correct and statement 2 is incorrect
(4) Statement 1 is incorrect and statement 2 is correct

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(C) PG
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19 faw o FuEl B aRT AR FE Rwew & g i
Wl:mgmqamw:hﬁ%mmammtn
FUT 2: IR oI GOHih A g @ a8 A ¥
(1) At F& &

(2) At T
(3) FEF (1) & B AR HUA (2) T B
(4) FFF (1) Tod T N FA (2) qE B
50. Which of the following is/are the method(s) of constructing index numbers ?
(1) Simple aggregate method
(2) Simple average of price relative method
(3) Weighted average of price relative method and weighted aggregate method
(4) All of the above
frefafag § @ P9-a/3 gz {9 A IR S fae 3/ 7
(1) 83 gq==g fafx
2) g Ty f[{afy & '« lad
(3) goa ane fafy ok wia g fafy & wRka olea
(4) IUAH |
51. Short-run production function shows the functional relation between ....coeasens for a
short period.
(1) Cost and revenue (2) Materials and matters
(3) Input and output (4) Functions and equations
AETHEE SdEd Bed 9 g & o & N Braree |99
ZgTiar 2
1) @ AR e (2) S AR =S
(3) 3Age AR IAR¥TYL (4) Fd A FHHIo

52. Which of the following is not considered production in Economics ?
(1) Tilling of soil by farmers (2) Singing a song before friends.
(3) Construction of Canal by laborers  (4) Painting a picture for sale
Py & § fpa ordure # IwrE 7@ W S ¥ 9

(1) et g B & IR (2) AFT B WA AT AT
(3)qa§ﬁgm=ig‘{iﬁfﬁ‘ﬁ‘ﬂ (4) Rl & R R 9T

PG(Hons )-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(C)
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53. Economies of scale me

ans increasing production with ........... per unit.
(1) Increase in total cost (2) Decrease in average cost
(3) Decrease in marginal cost (4) Decrease in total cost
Wﬁm@mwaﬁmq@%m ............ ufer geprd B |
(1) I AT+ gfeg (2) ofrga @rr & FH
(3) HHIT AT # (4) T "8 A FH

54. Variable costs are :
(1) sunk costs
(2) multiplied by fixed costs
(3) costs that change with the level of production

15

(4) defined as the change in total cost resulting from the production of an additional

unit of output
gREad+g @rt & -
(1) N AT
(2) Ffe=a sra @ gon
(3) AT S IR & &Y & G ggoa 8

(4) AfIRE 3HE B IUEA B IROMREET FA AV H 9RadT » w9 F

gfReiyg fopar &am 8

55. If the short-run average variable costs of production for a firm are rising, then this

indicates that :

(1) average total costs are at a maximum.

(2) average fixed costs are constant.

(3) average variable costs are below average fixed costs

(4) marginal costs are above average variable costs.

afY ol B B U oTeumE ofrgd afigdHsia Saed A sg @ ¥,

g gertar & o -

(1) B NFd AP AferpaH Bl B |

) Tfyga fraa ara Reax &t 28 |

3) uRadg ofraa @, ffeag ohad @ & &9 exfl 81

(4) g e, gRadg oNad @ § HUX B B

PG(Hons.)-EE-June, 2023/(Economics (Hons,) Five Year)(SET-X)/(C)
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ing i h Rs. 7500/-
56. Opportunity cost of an unemployed youth in past now getting job worth Rs. 7500/
per monthis ................ .

(1) Nil (2) Infinite (3) Rs. 7500 (4) Negative
FAT F AR gar, 3« 7,500 592 g e H Ay B Wl ol 3TFgax ArTd
.......... 2
(1) = (2) STARMHT (3) ®o 7500 (4) FHRTHD
-7 (S refers to the total amount of income received by the firm from selling a
given amount of its output.
(1) Average revenue (2) Total revenue
(3) Total fixed revenue - (4) Marginal revenue

............ qﬁmmﬁmaﬁfrnﬁrﬁaﬁ%ﬁ%wmaﬁ@
fsr 1 Geiia Har T

(1) sfraa e (2) HA TSI
(3) & WiEa s (4) |HIT ToTE
58. When total revenue is maximum, marginal revenue is ...........
(1) Maximum (2) One (3) Negative (4) None of the above
S BT AT Afyedd e ¥ O dmid o L BT 8 |
(1) sferepay 2) s (3) TAHRTHR (4) 3979 | | T
59. ... of a commodity is the total amount of commodity available with the

producers at any given time.

(1) Supply (2) Actual Supply

(3) Stock (4) Elastic Supply

Fra Mazga%ﬁﬂﬂ%ﬁmwm@r%wwawaﬁa%aﬁw
|

(1) syt (2) A&t ey

3) Teferar (4) TrERR SRS

60. The imposition of heavy taxes on a commod

itywill ............. the supply.
(1) increase

(2) decrease
(3) not to be related

(4) None of the above
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62.

63.

fasehy Q8] 9T W1 gy RITE angfd A

(1) gl (2) @

(3) delferer wy (4) 3uder # @ wg T

When the data is colle

(1) Secondary (2) Primary

(3) Secondary and Primary (4) All of the above

;m I @ & Fhes & Y o g onen B, @ 3@
|

(1) wrenfie

(2) wreferes
(3) wrenfaeg aWv grerfiye

(4) Fuer Goft
The primary data is collected by using the method :
(1) Questionnaire and Schedule method

(2) Observation and Interview method

(3) None of the above

(4) All of the above

st e fapa Rty @ Sy avd v foar smar ® 7
(1) werEeh’ ofv arpgen fafy

(2) rgelH- 3N qrenesT fafy

(3) IUAH & q Hg T8

(4) IUAH g

What will be the first step for data presentation ?

(1) Categorisation (2) Tabulation

(3) Both (1) and (2) (4) None of these
3T YRRy & forw wgen =wer & @ ?

(1) afiesor (2) AT

(3) (1) 3% (2) A (4) 7 q Hg T

Which of the following is not used for data-collection method ?

(1) Participant observation (2) Unstructured interviewing

(3) Research questiohs (4) Postal survey questionnaires

PG(HOns.)-EE-]une, 2023/(Economics (Hons.) Five Year)(SET-X)/(C)
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Prffag ¥ @ A-a1 er-dus fAfg & fom gud Fd Bar e R ?
(1) wferwrh svaes (2) Efery @TRITERI
(3) IFEU WA ‘ (4) B wFeror geeTAE!

65. Which of the following is not a type of purposive sampling ?

(1) Probability sampling (2) Deviant case sampling
(3) Theoretical sampling (4) Snowball sampling
Rrfafaa & @ @w-a1 Seeagel AgATHIOT & GHT TE B 7
(1) sf¥RaT THATHTO (2) faafea araaT FAERTT
3) Ssifrs TS (4) TG TLAHIT

66. Histogram can be drawn with the help of :
(1) Discrete frequency distribution (2) Continuous frequency distribution

(3) Cumulative frequency distribution (4) Relative frequency distribution

RN & ge™dar @ dEr A1 9T 8

(1) orHaa omgfr ez (2) Frax smgf e
(3) "= gl e (4) @rder g faaye
67. The cumulative frequency distribution graph is called :
(1) Histogram (2) Frequency polygon
(3) Pictogram (4) Ogive
i SRERAT e A6 FHEAET © ¢
(1) Sraaree (2) g T
(3) faermm™ (4) FreT
68. A circle in which sectors represents various quantities is called :
(1) Histogram (2) Pie chart
(3) Frequency Polygon (4) Component bar chart
T ga orad Brooes v aEnedt & afaffae e 8, seamar @
(1) smadfa= 2) ai§ =
(3) emgf Fgys (4) @A R are
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69. Data represented through a histo
(1) Mean (2) Mode

W%W‘éagﬁq‘rm%
(1) "1

gram can help in finding graphically the :
(3) Median (4) All of the above
TP ®9 § @ ¥ "7eg HT GFdAl © ¢

(2) =g (3) wifemanr (4) IUq<hH @4l
70. Pie-diagram is used for:

(1) Comparing different components and their relation to the total
(2) Representing qualitative data in a circle

(3) Representing quantitative data in a circle
(4) (2) or (3)
UE-SIEATH FH 9ART ey ST B

(1) B aest 5 qom ot @it & e g e
(2)q3ﬁgvméaa?rq%hfaam
(&'ﬁﬁqﬁﬁq—cﬁ%aamwﬁﬁmam

(4) (2) ar (3)

71. Sellers selling homogeneous products in the perfect competition market indicate ?

(1) A huge amount of loss for all the sellers.

(2) Buyers will not buy the products.

(3) Sellers will become price makers.

(4) Sellers cannot influence the prices of the products.

of g SR ¥ weiRig Sae S99 aw Rdar @ gaty ¥ 2
(1) | fasharedt & e s A/Er & Joa |

(2) BT IAE A8l T |

(3) fashar gea fmfar a1 SN |

(4) Tashar ST @ HEdT B AAAT TE BT Fehel |

72. Which of the following options creates a barrier to entry for new firms ?
(1) A rule of law that protects the existing firms in the market from the new firms.
(2) Increased competition in the market deters new firms from entering.
(3) No firm can create a barrier to entry.
(4) H losses made by the existing firms in the market deter new firms from
uge

entering.
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i Prafeiad & @ @F-ar @emeq ad el @ udw 1 s e aect B
(1) & 1 web FrEm o e i dfgar et SERI)
@) TR & sechl afereadt ag wal @) udur e a Qe B
@) B N B vEer ® sy e @vnoeend |
@) IR F AsEr WA &R fhar aar sid)

73. Read the following statements given below and choose the correct
Statement 1: Perfect competition hypothetical situation,
Statement 2 : Under perfect competition, the government decides the |
products and services.

(1) 1isincorrect and 2 is correct

(2) 1is correct and 2 is incorrect

(3) Both 1 and 2 are correct

(4) Both 1 and 2 are incorrect

A Ry U wHuEt @ gfen o @@l fameq @1 wwa afon
Hu 1: Qo wfenfren st Refa &

e 2:gol gferafen # @wepre @t Il ofe Qanail @ @t an o wah By
1) 1799 8 3R 2 98 B

2) 1 I8 8 R 2 o g B

(3) a4 1 MR 2 & B

(4) AT 1 AR 2 T &

A e B

e )
aeene g alt el gard aenar B

alternative

yrices of all the

74. Sellers in the perfect competition are price takers becausce :

(1) Sellers get a lot of pressure (rom other competing firms to accept the prevarhing
equilibrium price in the market.

(2) Buyers influence the prices of products.

(3) Government forces the sellers to sell a product at a particular price.
(4) None of the above

oot SRR § R AT T w1 a@ A ¥ il

(1) SR F gaferd e qod & @b we @ e et @ ar
afereasdt wAT @ Sgd oA qara e ®

(2) @U=R IATET B HEar & guifad wa 8
(3) FIPR fasbaratt b1 Ay e R I AaN @ R worgR e ¥
(4) IIUH F q HE Tt
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75.

76.

77.
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How is th ; ;
ek € demand curve in 4 perfectly competitive market ?
(1) The demand cyrvye cannot be calculated.

(2) The demand curve is a vertical line at the market price.
(3) The demand curve is flat.

(4) The demand curve is a horizontal line at the market price.

T IR S F 7 am e S & 7
(1) |0 a6 9 oy T8 9 o g |

(Z)qj’TWWWQT@W%@T%r
(3) AT IqF THIT T |

(4) 91T TF ISR TR 9K O AT Y@r B

The market type which is known as perfect competition is .............. i

(1) Highly competitive and companies find it challenging to earn economic profits in
the long run

(2) Almost free from competition and companies earn large profits
(3) Marked by firms continuously trying to upgrade their products so that buyers
prefer their products to that of their competitors'

(4) Dominated by fierce advertising campaigns
IR Th K B gof af@fier & sr A ST ST g1 @ ® e l

(1) oTafs wferme] ok wufdl & ¥ wwa # onf¥ew iy AR HT
ARNYE! T &

(2) wfregst & T geb S HATEr ST JATEN HART &

(B)Wﬁmwmwﬁﬁmmﬁmmaﬂ%f%m%@a
RpaT STraT & alfh @R 3 MRl @ Hu Fefddl & SRl § 9693

FT
(4) g e Al B s

In a perfectly competitive market, the type of decision a firm has to make is different
in the short run than in the long run. Which of the following is an example of a

perfectly competitive firm's short-run decision ?
(1) What price to charge buyers for the product
(2) Whether or not to enter or exit an industry
(3) The profit-maximizing level of output

(4) How much to spend on advertising and sales promotion
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@@MW%@M@WW%W@
B B ST UHT A fir By B Prefatea A A A
gfereqdt o 3 SregFa Aol & IEmTe B 7

(1) I 3 g @it & F& Fa agard B

2) Fpe IE & w9 HAT B A1 FE

(3) @A H ATH-AfEHTHHTT T

(4) RsmoR oM R = uv Reaer @d we R
78. Perfectly competitive firms are price takers because :

(1) each firmis very large.

(2) there are no good substitutes for their goods.

(3) many other firms produce identical products.

(4) their demand curves are downward sloping.

oot s & e 3ew 0 ah A ¥ s
(1) &% ®H Igad IS1 Bl 8|
(2) 3T A H P =W fAFea TE B
(3) FF T B FHF IRl H IJAEA B B |
(4) I AT TH A H IR FD g 2|

79. Business owners in the perfect competition have to make different types of deasions,
both short and long term. Which of the following options are short term decisions ?
(1) Output levels that have a direct impact on profits.
(2) How much to spend on advertising.
(3) To enter the marketplace or take an exit.

(4) The price of the goods and services.

qot sferRifer § R At # A swR & @y gu ddefes A FeiE
Y gz B P faeedl § @ -1 Swse Mo ' ?

(1) SSeye @Y R ard X di=r 59e 9Tl |
2) fasmoA ox fpaAT @ HEAT 2

(3) I & 9AST FHEAT AT A8 fhaT |

(4) FEI3AT 3 FansTt FH HA |
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80. The elasticity of de

81.

82.
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mand for the product in a single firm in the perfect competition is :
(1) Zero because a|) the "

sellers are selling an identical product.
(2) Zero because all the

sellers are selling heterogeneous products

(3) Infinite because alj the sellers are selling identical products.

(4) We cannot calculate the elasticity of demand for a product in perfect
competition.

Tt RN ¥ R am o A g @ st A ar B X
(1) T F4M% vt A us e aeare g @ B

(2) LT M T A ey gme g @ ¥

(3) T FIH Tt RAdar a9 Iz Aw @ B

(4) & B I @ "7 e @ ogd o TE BT EES

The process of transferring the ownership, management and control of a public sector
partially /entirely to the private sector is known as ............. :

(1) Globalisation (2) Liberalisation

(3) Privatisation (4) None of the above

qdE A5 & @i, gded ok Praser @ orifie w9 a/qot ww & P
8 d WEaia & & ufkar & .. $ w7 A AT AT B |

(1) FediHTT (2) FaTdEHTT

(3) fA=iEnzeT (4) IUAT * A HE qH

Which of the following arguments are made in favour of privatisation of a country's
economy ?

(1) It helps to revive sick public sector units

(2) It creates a competitive environment for businesses

(3) It helps to protect the sovereignty of a consumer

(4) All of the above

Rt 297 & odfegaedt & Fotel @ oW 7 Frafafaa & @ @ o Ra
S ® 7

(1) 78 4 adstas & @ ghrEdt B AT w3 A wee s R
(Z)Hmaﬂrﬁ%m@mﬁwwmt

(3) g8 SydrH @ EA # W HC T A e

(4) IgA<h G
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83. After implementing the New Economic Policy, which sector mainly drives the growth
of Indian economy ?
(1) Agriculture (2) Service (3) Industry (4) Construction

Q HF-91 a7 d=id HaT & 7

(1) P (2) T (3) FEm (4) mtor
84. What called for land reforms in India soon after independence ?
(1) Agricultural development (2) Equity in agriculture
(3) Growth with equity (4) Self-sufficient in food grains
AN B T I8 ARG T A GUR Py r par @ ar ?
(1) Py fora 2) BN F FEFET
(3) GHEAT & G feoeprg (4) @ & ey
85. The constant decline in average size of holding in India is caused by :
(1) Law of inheritance . (2) Consolidation of holding
(3) Mechanisation of agriculture (4) Love for land
WRA 7 Sq & N AR F TR FRIEE @ e
(1) IR Hr FHaw (2) ST I gHsEel
(3) B /T FANNHToT (4) 9% & 99
86. The nature of unemployment seen in agriculture is :
(1) Cyclical unemployment (2) Educational unemployment
(3) Disguised unemployment (4) Voluntary unemployment
PN F A& Y areh AT W SRy
(1) = AT (2) A AsETH
(3) T~ SRS (4) WRs® RS

87. Which agency is responsible for procurement, distribution and stor

age of food grain
production in India ?

(1) Ministry of Agriculture (2) Food Corporation of India

(3) NAFED (4) TRIFED _
IRT § W SO B ogdE, Rower o) sierer @ R @l wshy
R & ? ’ |

(1) B H=e™ (2) W< @ e

(3) A®S (NAFED) (4) STE®S (TRIFED)

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(C)



25
C

: tes el ' - 1 » ms
88. Which of the following was the main reason behind initiating the economic refor

in the country ?

(1) India was facing a huge fiscal deficit issue

(2) India had an adverse balance of payments

(3) The rise in the prices of several essential commodities

(4) All of the above
%mﬁaﬁmgmg&mﬁ%rmhﬁmﬂﬂﬁzrﬁ"ﬂ-mqwaﬁrmm?
(1) 9T TH a3 TomhNE 912 & gE &1 a9 BT e ol

(2) R & G Hger dferger A

(3) HE STEavIER TEIAT F Fpaar F gl

(4) IYA<H FH

89. Which of the following statements is true about liberalization ?

(1) It involves the reduction of government controls and deregulation along with
greater autonomy for the private investments.

(2) It refers to contracting some of the activities performed within the organization to
third parties.

(3) Both (1) and (2) are correct

(4) Both (1) and (2) are incorrect

I $ 9k F frAafatad ® A S9-a1 #8997

(1) 398 foolr et & g sifhs @Ewar & aY-ae a3ey FEaet § Hi
A etz enfaa 2|

2) 78 e & HGT & oA I e Aafafaar B deR g B st
FQ & fore Hafda & 21

3) (1) 37 (2) I+ |81 B

@) (1) 3T (2) It TIT

90. Which one of the following was one of the objectives of demonetisation in 2016 ?

(1) To gift new notes to people of India
(2) To reduce and prevent circulation of black money in the market

(3) To increase the interest rate
(4) To increase the value of currency
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Praffere & A @-ar 2016 A g @ ke 1A U
(1) 9 & @it @ A e guare ¥ e

(2) TR A HA G @ waes @) wn e s A

(3) s gX ® gia &

@ T & g A gl sen

91. Which of the following is the thing that is generally ac epted by cveryone as g
medium of exchange ?
(1) Money (2) Goods
(3) Services (4) None of the above
frafafea & @ - awy fafawa & mesr & &9 A oHrEreger @ ogrn
HR H o B 7
(1) g=1 (2) IS |
(3) |am (4) Igder & A @ T

92. On which things were not included in the Supply of money measure ?
(1) inter-bank deposits
(2) Demand deposits with financial institutions on a net basis
(3) Currency and coins are available to the general population
(4) Deposits with the Reserve Bank of India (RBI) in addition to the above
g gt A9 A f STt @y enfier @ fear w2
(1) SHaX-da 51
(2) = YR X fayg Gt & gy feais fedifre
(3) HaT M e o STHer & oy Iuerey B
(4) SURATH & Al WRAG Rod F (RBI) & ar 17

93. Commercial banks create money in the following ways :

(1) By issuing currency (2) By creation of bank deposits
(3) Neither (1) nor (2) (4) Both (1) and (2)
aferfsues & frafaRed adet @ o7 @& gom e@ ¥
(1) &1 58 Fep (2) A% ST w1 Famtor e
@) T (1) T @ (2 4) (1) 3 (2) QA=Y
94. Which function of money, removes the problem of double coincidence of wants ?
(1) Measure of value (2) Medium of exchange
(3) Store of value (4) None of the above
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SR BT e smvermanett & Aey @A @ wEEn @ gl Hn ¥ 7
(1) &= w1y (2) fafra @1 ATens
(3) e w1 siwre (4) SUATH * q HE TS

95. In the present world, the act of purchase of goods, and sale of goods have been
-‘_‘“Pi‘"ﬂ.k‘d .duo to the existence of money. This has been facilitated by which of the
following functions of money ?

(1) Store of value (2) Medium of exchange

(3)‘ Measure of value (4) None of the above

T TR A gl & v oM R ) B, & B SR F PO Swer
zﬁ"muuﬁw%ﬁwﬁﬂ@amﬁﬁmmwmw%?

(1) 9™ &1 ssR (2) fafmg @ ATEmy

(3) T & g (4) Su<H # | g TEf
96. MI and M2 makes make up of :

(1) Narrow money supply (2) Broad money supply

(3) Broken money supply (4) None of the above

M1 ST M2 frerehy a=my &

(1) ot gzr emyfes (2) =AUH HAT YRS

(3) e ger @ ermafs (4) ST=H & q FHE TEH

97. Which of the following is a step that the central bank will take to encourage greater
investment in the economy ?
(1) It will look to increase the cash reserve ratio
(2) It will look to reduce the cash reserve ratio

(3) It will look to increase the bank rate
(4) It will look to sell the government securities in the open market

FrefafRag & @ H9-91 TF HaH 8, S STimaeen § M # ot ¥ offues
NeqiRd wxa & g Fkg Seh IS 7

(1) T8 Fehs SRIEA STUIT H FgM I &= 3

(2) T8 TR SRIET STIURT &l HH HIA T &M &M

(3) g8 ¥k X # ghs AW
(4) @8 | ARt B ge TR F FER W e wen

98. When the Reserve Bank of India (RBI) raises the cash reserve ratio, it will :

(1) Decrease supply of money

(2) Increase the supply of money

(3) Increase the supply of money initially but decrease the supply
(4) No impact on money supply in the economy
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99. What does Repo Rate imply ?

(1) When cash is needed, banks can
the RBL

(2) Banks give a premium rate to their high-valu

(3) The rate at which the RBI provides comm
secured by government assets, with the requirement that t
the securities within a short period of time.

(4) Banks with excess cash can purchase securities fr
they resell the securities to RBI on a predetermined date and at a

discount bills of exchange and obtain a loan from

e customers.
ercial banks with lending facilities
he banks repurchase

om RBI on the condition that
prcdctcrmincd

price. :
G @ 9T q9ar © 7
(1)@3@@3@%%%@%%@%%@?@@@%@?
RBI & 9T UT &Y THhd o |
(2)%3@@@&@3@@%?{%%

(3)%ﬂmWRBIWﬁng{%mﬁmﬁzﬁﬁwéﬁ
WW%{HWQW%W%%EBWW%W

P

yfergferat & gAER ®Y |
(4)aﬁﬁﬁma@%wsﬁWRBléqﬁmaﬁam%ﬁaaRm

ﬁ@ﬁ%%ﬁaﬁ@ﬁmwwqﬁﬁﬁﬁaﬁmaéﬁ%n

100. The RBI's increase in the cash reserve ratio (CRR) will result in:
(1) Reduce the amount of money in circulation in the economy.

(2) Increase the economy's money supply.
(3) There will be no effect on the economy's money supply.

(4) Initially, boost the supply, but gradually reduce it.

T TR ST (FeReTR) 7 ARSTE i ghe &1 aRomd &rm
(1) arefeaer ¥ °o= § g9 & A &H D |

(2) Sreferawn & HAT oMYkt eIl |

(3) oredeaee @ HET TYRT UX HE yWE qE 9GS |

(4) 9\ H, Y @Y, Afh MR- 39 HH HL |
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1. The process of transferring the ownership, management and control of a public sector

partally /entirely to the private sector is known as ............. .

(1) Globalsaton (2) Liberalisation

(3) Privatisation (4) None of the above

mA s @3 # afae, gdus A7 e @ A =9 /90t =9 3 Feh
@3 & ety 373 B o oE L # =7 & FAE1 AT B

(1) Ao (2) =BT

(3) ATy (4) 3709 & F HIF A8l

2. Whach of the following arguments are made in favour of privatisation of a country’s
economy ?
(1) It helps to revive sick public sector units

(2) It creates a competitive environment for businesses
(3) It helps to protect the sovereignty of a consumer

(4) All of the above
fod 2w & sdemgaeen % fafe o @ gy & fyfafaa @ F9-91 a R

wn B 7

(1) = v AdAfas @9 € gEgdt #1 gToftfaa #73 § g8% e B
(2) ae ayadt & fao ox gfgedl ar@or g9 2

(3) aw yrdven & A9q & 7w F74 A qEg FHE) B

(4) TaNve 7

3. After implementing the New Economic Policy, which sector mainly drives the growth

of Indian economy ?
(1) Agnculture  (2) Service (3) Industry (4) Construction

¢ sftw i @ s @73 & aw, adg sdeEen % fawm B opEr w5y
A W @w wafan o k7

(1) (2) A= (3) 3Em (4) f=toT
4. What called for land reforms in India soon after independence ?

(1) Agnicultural development (2) Equity in agriculture

(3) Growth with equity (4) Self-sufficient in food grains
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(1) %fa fazmra (2) i & AHETed

(3) a1 F A"y ey (4) mregre=r # srenfadde

5. The constant decline in average size of holding in India is caused by :

(1) Law of inheritance (2) Consolidation of holding,

(3) Mechanisation of agriculture (4) Love for land
qree # e shraer 3BT o @per frrorme a1 mreor B
(1) ¥t o1 foay (2) TNer #) wepEEy
(3) M &1 AefefzTo (4) fer @ oy
6. The nature of unemployment seen in agriculture g :
(1) Cyclical unemployment (2) Educational unemployment
(3) Disguised unemployment (4) Voluntary unemployment
P A A A A Adorre % upfer &
(1) == A7 (2) Hftrer APETH
(3) g2~ ATorrH (4) wAfeszer AP

7. Which agency is responsible for procurement, distribution and storage of food grain

production in India ?
(1) Ministry of Agriculture (2) Food Corporation of India

(3) NAFED (4) TRIFED

Wﬁwmwmﬁm,ﬁﬁmemm%ﬁmmﬁqﬁm

foredee & 7

(1) Ffa H=mery (2) wrefa @ g
(3) A®HB (NAFED) (4) S8BT (TRIFED)

8. Which of the following was the main reason behind initiating the economic reforms

in the country ?
(1) India was facing a huge fiscal deficit issue
(2) India had an adverse balance of payments

(3) The rise in the prices of several essential commaodities

(4) All of the above
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3
Ay T onfifes GuR Y& HE & I8 Frafifaa & & d=-ar g srer oy ?

(1) 9T T 93 (BT 91 F HE I AHAT HI TET o
(2) 9RA F G g S e

(3) ®E oTEYTH A H HEGT F gha o

(4) ITA<H G

Which of the following statements is true about liberalization ?

(1) It involves the reduction of government controls and deregulation along with
greater autonomy for the private investments.

(2) It refers to contracting some of the activities performed within the organization to
third parties.

(3) Both (1) and (2) are correct
(4) Both (1) and (2) are incorrect
SEERT 3 SR # FrfoRed # & H9-91 wuF g 8 7

1) 399 o Mast & o sfte @raar & a-ary a3Rr FEsort & 5
X I EHe e ¥

(2) T& e & MO & T ar B At B AER q& B s
FA & [w GR¥fT Har 2

(3) (1) X (2) AT 91 &

@) (1) MR (2) VAT Toa &

Which one of the following was one of the objectives of demonetisation in 2016 ?
(1) To gift newnotes to people of India

(2) To reduce and prevent circulation of black money in the market
(3) To increase the interest rate
(4) To increase the value of currency

ﬁw%mﬁﬁﬁﬁﬁ-wzoléﬁ%gﬁww%@sﬁﬁﬁwm?
(1) 9IRT & AR & ¢ AT ISR F AT
(Z)Wﬁmm%mﬁaﬁwmaﬂtﬁw

Q) =S X ¥ gfg T

4) T & g & ghe w0

Short-run production function shows the functional relation between ............. for a
short period.

(1) Cost and revenue (2) Materials and matters

(3) Input and output (4) Functions and equations
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far B

?;amaﬁ'(m (2) g 3 "Ea

(3) §ge R IIYE (4) ®rd 3h wiEwTor

12. Which of the following is not considered production in Economics ?
(1) Tilling of soil by farmers (2) Singing a song before friends.
(3) Construction of Canal by laborers  (4) Painting a picture for sale

Wﬁﬁé%@a@mﬁmaﬁwm%?

(1) frast &) A & A (2) At & AEA AT AT
(3) WG &R AeX & FEier (4) fent & fow o &=
13. Economies of scale means increasing production with ........... per unit.
(1) Increase in total cost (2) Decrease in average cost
(3) Decrease in marginal cost (4) Decrease in total cost
R A Aefemewr & A Iaaed g B J o afy 31E B
(1) T AT H i (2) ofraa @ & FH
(3) AT ArTT H FHH (4) |/ g8 7 FH

14. Variable costs are :
(1) sunk costs
(2) multiplied by fixed costs
(3) costs that change with the level of production
(4)

defined as the change in total cost resulting from the production of an additional
unit of output

afadia art ¥ -

(1) gt A

() Fif=a @ & Tom

(B) AT S IR & @ & 6 seerd 2

(4) SR g B IOET B gRomTEEY wrEa # oRadw # wg #§
ey fsar oy B b
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15. If the short-run average variable cogts of production for a firm are ris
e rising, t i
indicates that : g, then this

(1) average total costs are at a maximum.
(2) average fixed costs are constant.

(3) average variable costs are below average fixed costs
(4) marginal costs are above average variable costs.

(1) HA NEd AT BT By 2

2) TfEa ofaa ara Rex e
(3)qﬁaﬁaaﬁwm,ﬁﬁwaﬂww%waﬁﬁ%|
(4) T AETd, IRETET o @ @ Fuw O B

16.  Opportunity cost of an unemployed

youth in past now getting job worth Rs. 7500/-
per monthis ................ ;

(1) Nil (2) Infinite (3) Rs. 7500 (4) Negative

STAIT H SRSFIR I, S 7,500 B9 HierETE @ Nepd e @ A smER e
.......... ®

(1) == (2) SafRfHa (3) o 7500 (4) THRTHB

|7 R refers to the total amount of income received by the firm from selling a

given amount of its output.

(1) Average revenue (2) Total revenue

(3) Total fixed revenue (4) Marginal revenue

............ mﬁmﬁmaﬁﬁnﬁn&aﬁ%ﬁ%mmﬁ@
TR B GeRfF FHear T ‘

1) hEa e (2) H ToTE
3) BT Fivaa o (4) qHia o
18. When total revenue is maximum, marginal revenue is ........... :
(1) Maximum (2) One (3) Negative (4) None of the above
S BT A sl A ® A @i o L B B
(1) siftrepes (2) TH (3) THRTHH (4) 37H 9 g T
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W s s of a commodity is the total amount of commodity available with the
producers at any given time.
(1) Supply (2) Actual Supply
(3) Stock (4) Elastic Supply
.......... ﬁ:@a@aﬁﬁsﬁrﬁwm%mﬂm@:a@aﬁ@aw
=
(1) T (2) ot SR
(3) weRr (4) FreEr SgRe
20. The imposition of heavy taxes on a commodity will ............. the supply.
(1) increase (2) decrease
(3) not to be related ' (4) None of the above
REefl aeg 9X WY HX T YR A BRI |
1) 3= (2) ®HH
(3) defera e (4) ITA=H 7 | HE A
21. What does the fiscal deficit related to under the government budget ?
(1) Taxes shortfall (2) Disinvestment shortfall
(3) Borrowings requirement (4) Disinvestment requirement
TRH SoTe & SrTd TR Her Rred deift ® 7
(1) &1 & H 8 ) faf@sr & &0 |
(3) IUR F EFTHAT & (4) fafQer at smasTeRal |

22. The measures taken using the government budget can impact to :

(1) Resource allocation (2) Inequalities

(3) Inflation (4) All of the above

G IoTe P IYART H@ [T T I T BT THhA @
(1) §E1E9 AEeH () THEEHAT @
(3) DT B (4) IUA<6 N @

23. The difference between which two factors constitute primary deficit ?
(1) Revenue deficit and fiscal deficit
(2) Total expenditure and revenue receipts
(3) Interest payments and revenue deficit
(4) Interest payments and fiscal deficit
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Rp & B @ e & AR wrafie |rer aqr ¥ 7
(Unawzrmaﬁ'(mﬂﬁﬂﬁuam

(2) e = AT T S
(3)WWG$TTWWET
(4)&11?{%3?!’(?13@@’1%

24. Which of the following statements is true about the fiscal deficit ?
(1) It is the difference between the total expenditure and receipts of a government
excluding interest.
(2) It is the difference between the total expenditure and receipts of a government
excluding spending.
(3) It is the difference between the total expenditure and receipts of a government
excluding borrowings.

(4) It is the difference between the total expenditure and receipts of a government
excluding taxes.

TR " & R F Frefefag § § f9-ar #E g e ?

(1) I8 AT H BIgH THR B A FF AT AFAl & & H1 FAL 2
(2) T8 @ & BISHY THR B FH g AR Wikt & q= H I 2|
(3) ¥E IUYX H BISH THR B Ja G 3R Wiikdr & d= &1 Ja 3|
(4) g€ FHA B BISH THR B o AT AR Tiwar & &= & I 2|

25. Which of the following statements about the capital budget is accurate ?
(1) The capital budget consists of direct and indirect tax.
(2) The capital budget consists of capital expenditure and capital receipts.
(3) The capital budget consists of revenue expenditure and revenue receipts.
(4) The capital budget consists of direct taxes.

IR sofe & g o frfaiad & @ d9-a1 &9 g8l 8 ?
(1) ISIF aote # gegel 9l STIIE &Y A & o |

(2) Ioirra &ote & gofvra &g o) Ioia ikt sniie &t &1
(3) YSINE &oTe & o g SR T wiiadi Qe gt € |
(4) I 5T F goge Y B § |

26. Which of the following statements describes the function of a budget ?
(1) Itisa description of the income and expenditure of a government.
(2) Itis a document containing details of the economic policy of a government.

(3) Itis a description of the programs of the government.
(4) All of the above
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(1) I8 Th EIHR H Y N &g 1 fagwor 8

(2) I8 wh aEiast ¥ R @ @ onffes A @ fagwer adr B
(3) & GXHIX B HRHAT 1 fagor B

(4) I g

27. Which of the following statements is not accurate about non-tax revenue receipts ?

(1) Disinvestment, external grants and dividends & profits are examples of non-tax
revenue receipts

(2) Disinvestment, dividends & profits are examples of non-tax revenue receipts

(3) Goods and Services Tax is an example of a non-tax revenue receipt

(4) Disinvestment and external grants are examples of non-tax revenue receipts

Frfafad § @ sF-a1 wom - Torg st @ e & 9@ @ e 7

(l)gﬁ%w,am‘&ewaﬁ?mqum?rr-aﬂmm%ﬁm :
|

(2) fafaer, @msvier ok oy A-ax T wiftadt & IaTEReT ¥

() TE T Qa1 HX -3 oG AT T T ISETOT T

(4) A ok s emEm R-wx o wkTat & Saer ¥

28. The amount received by the Government in the form of interest, fees and dividends is

known as :
(1) Tax-revenue receipts (2) Capital receipts
(3) Non-tax revenue receipts (4) None of these
BN G A, Jeeh SR AW & w9 & 91 i3 &7 ey syay L -
(1) HI-oTg wrfear (2) ISTrTe et
(3) TR-=Hx roTed i (4) ¥ & B 7
29. The amount received by the Government in the form of taxes and duties is known as:
(1) Capital receipts (2) Tax revenue receipts
(3) Non-tax revenue receipts (4) All of these
TIHR ERT X 3R Yohl & 9 F ard & ST arell iR Fear Lo
(1) Goirr smfa (2) X roTE T
(3) IR-=x TTE ST (4) F =T
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30.

31.

32.

PG(Hons.)-EE-June,

9

The expenditures which neither create an asset, nor reduce any liability for the

Government is called :

- " e
e

(1) Revenue Expenditure

(3) Both (1) and (2)

(2) Capital Expenditure

(4) None of the above

A ag @ A @ B aREe g @ B M A & @@ & feu fed

afeg @ #H HQ B, HedAd &

(1) T &9 (2) Ioirma =y
(3) (1) 3T (2) =t

Gossen'’s First Law is ............... :

(1) Law of Diminishing Marginal Utility
(2) Law of Demand

(3) Surplus of the Consumer

(4) Law of Equi-marginal Utility

M & oy fFag & . |

(1) BrEaq= dwia 3w & gy
(2) |1 &1 fam

(3) IgAERT # Ay

(4) gu-dmia I & gy

Characteristic of utility is/are that .......... :

(1) Utility is subjective

(2) The utility is a relative concept

(3) The utility is a psychological phenomenon
(4) All of the above

Iy & fagwwen /& fB o |
(1) Ivfrer e @

(2) ST oF TRW SR

(3) ST o TSRS Te B

4) 3T T

2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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33. Ability of a good to satisfy the human want/desire is ... -

(1) Satisfaction (2) Productivity (3) Profitability (4) Utlity

o a o> Py ueh OTESl EEAl ....eeeeeeee -4
Wﬁw/mﬁwﬁ%%ﬂ@mm .......
(1) Egfte (2) Ieqraehdl (3) STANET (4) I
34. When income of consumers rises, they reduce their consumption of ............-- :
(1) Normal goods (2) Gl]{f:: gt}O:)dS
; S 4) A e three
(3) Inferior goods (
aasmﬂ?ﬁraﬁaﬁamﬁq%afﬁ%,eﬁém ........... = ITEE FH
H AW B 5
(1) SFT AL (2) s a&ge
(3) =fear AT @) &=t A=
35. Which approach is used to measure the elasticity of demand ?
(1) Point Method (2) Percentage or Proportionate Method
(3) Total Expenditure Method (4) All of the above
1) Rig fafy (2) qi%rsmmaq@m%m%ﬁr
(3) F =¥ fafw (4) SUs g
36. The ordinal utility concept express the utility in terms of :
(1) Level of satisfaction (2) Constants
(3) Units (4) None of these
HAGS IULIAT ST ITRRET # 6 FHR A< B 8
(1) |gfe 1w (2) Feri®
(3) bl (4) = ¥ B
37. When the price of commodities X' declines than increase in demand for goods Y.
both goods are :
(1) Substitute goods (2) Complementary goods

(3) Not related (4) Competitor

o wEg X H FE weh ¥ A aeg v B Hr A gRe o ¥, A awgd ¥
(1) T Tl @) T Tl
(3) Wt (@) s
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38. Why are indifference curves convex to the origin ?
(1) ‘Two goods are perfecf complementary goods.
(2) Two goods are imperfect substitutes.
(3) Two goods are perfect substitutes.
(4) None of the above

Sehe @ 09 Ry B ST g w A ¥ 7
@) & s T T T el ¥

o) @ T ST T
(3)aa;§§g°’rwmw:f%|

(4) STAE F q Y T

39. A consumer reaches the point of equilibrium when :

(1) MRSxy > Px/Py (2) MRSxy < Px/Py
(3) MRSxy = Px/Py (4) None of these
T ITHRA g & &g W ggadr § o« ¢
(1) MRSxy > Px/Py (2) MRSxy < Px/Py
(3) MRSxy = Px/Py (4) 39 q HIs TS
40. A shiftin budget line, when prices are constant, is due to:
(1) Change in demand (2) Change in income
(3) Change in preferences (4) Change in utility
HHAl & R @A X §51e @1 # SSAd H BT B
(1) =T § qieds ' (2) oF & uRads
(3) Tl & gfRtec (4) STANFET H aRecd
41. Which of the following is the thing that is generally accepted by everyone as a
medium of exchange ?
~ (1) Money (2) Goods
(3) Services (4) None of the above
F=fafaa & § S ag R @ @om & w9 & amea @ &
DR & Sy 2
(1) = (2) HI
() et | (4) ST & & @ T
PG(Hons.)-EE-June,
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42.

43.

44.

45.

o 593G » ?
On which things were not included in the Supply of money measure

1) inter-bank deposits o .
o deposits with financial institutions on a net basis

and coins are available to the general population

(2) Demand
addition to the above

(3) Currency |
(4) Deposits with the Reserve Bank of India (RBI) in

Ww@%wﬁiﬁqiﬁﬁaﬁwﬁﬁ 7&f fepar Tar ¢

(1) SHaT-Se ST
(z)gamwﬁ?ﬁﬂmﬁ%m%qu%w
(3) T AR e o o B R ST ¥

(4) ST H T AR Red FH (RBI) H 9rE ST

Commercial banks create money in the following ways :
(2) By creation of bank deposits

(1) By issuing currency
(3) Neither (1) nor (2) (4) Both (1) and (2)

qifoas Yo Frefafad aQsH & o & o Hd § ¢
(1) &1 S B (2) b ST T FHEOT HIDH
(3) T ar (1) X T B () 4) (1) 3 (2) AT

Which function of money, removes the problem of double coincidence of wants ?
(1) Measure of value (2) Medium of exchange

(3) Store of value (4) None of the above

qAT & HI-ET B ATTHAS F e TAT B GHET P g FHIAT L 7
(1) T H1 A9 (2) fafemg w61 A"rem

(3) T BT HSR (4) SUUH H | Hg TE

In the present world, t}_1e act of purchase of goods, and sale of goods have been
separated due to the existence of money. This has been facilitated by which of the

following functions of money ?
(1) Store of value (2) Medium of exchange

(3) Measure of value (4) None of the above

() T 1 A W ST F @ 9

)G (Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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46. M1 and M2 makes make up of :

(1) Narrow money supply (2) Broad money supply
(3) Broken money supply (4) None of the above
M1 3R M2 et a9 B

(1) ot gar smyfel (2) &9 HaT AR

(3) SAF=T AT B SRS (4) 39AH F A B 78

47. Which of the following is a step that the central bank will take to encourage greater
investment in the economy ?

(1) It will look to increase the cash reserve ratio
(2) It will look to reduce the cash reserve ratio
(3) It will look to increase the bank rate

(4) Tt will look to sell the government securities in the open market

FfiE § & - o wen B, o ordermwen § FRw @ oies d 1
gl H B e S §% ger ?

(1) ¥8 T3 ARG U FH Fe 9¥ =9 3T

(2) g8 TpT & UM & HH &3 9T =F M

(3) @& §% =T & ghw s

(4) F& IXH Afagfadl ® gd g ¥ e wX REr s

48. When the Reserve Bank of India (RBI) raises the cash reserve ratio, it will :
(1) Decrease supply of money
(2) Increase the supply of money
(3) Increase the supply of money initially but decrease the supply

(4) No impact on money supply in the economy

Si9 A od S (REieE) T TR SuM "o B, Y ag &
(1) FzT & gl 7

(2) F1 F S F g

(3) I= F =1 A AR e dAfeh omafef w9 Y

(4) rdaE F a1 AR X HE gwE T8

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D) P.T.O.
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49. What does Repo Ra

50.

51.

te imply ?

1) When cash is needed, banks can discount bills of exchange and obtain a loan [rom

the RBL

(2) Banks gived
‘ ) J . i \
(3) The rate al which the RBI provides commercial banks with lending facilities
p ) ‘ ‘
socured by W,\;(.,-mnvnl assels, with the requirement that the banks repurchase
the securities within a short period of time. =
wash can purchase securities from RBI on the condition that

4) Banks with excess ¢
they resell the securities 1O RBI on a predetermined date and at a predetermined

premium rate to their high-value customers,

price.

) Y aan Rk B

(1) e T ) anagaewar o ¥, @ Nep fafrra & fa@t @) o aed ooy
RBI A ST ST & gt ¥

(2) Y5 3T a'eaw;(wm%nmzﬁfaﬁr Nt av A ¥

(3) a8 &x ford 9X RBI e Gaferdt @ grigw anforvaes Yt @ ol A7
g g s e ¥ g TaREdl & ar e dep wH ey B

yfeyferal @t grRee | ,
(4) s weRdl A Y g ot ux RBI A sfvsgfor e aw) ¥ 6 & RBI
aﬁgﬁﬁu'fﬁﬁmah@ﬁufﬁawwqﬁmﬁﬂaﬁma& ¥

The RBI's increase in the cash reserve ralio (CRR) will resull in:
y in circulation in the economy. ,

(1) Reduce the amount of mone
(2) Increase the economy's money supply.
no effect on the economy’s money supply.

(3) There will be
reduce it.

(4) Initially, boost the supply, but gradually
qepe STTfETe SIATd (Frarrearr) A aeeitand @ g @ 9o BT

(1)aweiaqawfta'er=rﬁu=raﬁrnmamaftu
(2)axamwa%gmanﬁwﬁn

(&gWﬁgﬂTeﬂﬁwmqmaﬁq@m
(4)Wﬂ,s¢r§ﬁ'fm,%ﬁﬁeﬂ%—eﬁ%s—éaﬁqﬁn

Which of the following is not an objeclive of Government budget ?

(1) Redistribution of income and wealth
(2) Export promotion |
(3) Social welfare

(4) Economic stability

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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Frefefad & & 9-a1 GHQ aote &1 IRva T8 ¥ ?
(1) oma ol &= &1 AR
(2) Fata Seares
(3) GHIST HIT
(4) IR fRerar
52. Which expenditure will either create an asset or reduce the liability of the
Government ?
(1) Revenue expenditure (2) Capital expenditure
(3) Capital receipt (4) Revenue receipt
P-ar FF A1 A wH IR w1 Fmitor s ar s F afaa B o#n
AT ?
(1) o =Y (2) ST =9
(3) gSira wife (4) TS Ot
53. Subsidies and expenditure on scholarship are examples of :
(1) Revenue expenditure (2) Capital expenditure
(3) Capital receipt (4) Revenue receipt
BEIR WX Afast o) =g Sarevr ¥
(1) o = B (2) IoirTT =9 B
(3) IoirTa i & (4) IoTE gk &
54. If the Government estimated receipts are less than estimated expenditure, then it is
termed as :
(1) Surplus Budget (2) Deficit Budget
(3) Balanced Budget (4) All of these
gﬁmaﬁaﬁmﬁmmmﬁamémﬁ?ﬁ%aﬁ@mm
(1) AYAY Foe (2) "2 T/ Soie
(3) Hfera sote 4) ¥ &
55. In case of some capital receipts, thereisa ............ to return the amount with interest
at a future date.
(1) Future obligation (2) Contingent obligation
(3) Past obligation (4) None of these
PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D) P.T.O
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¢ goh skt & wp@ A o wwa 9 ey wfea oty areH ®1 & fao
%°® '

......... R
(‘1) wisy & qregen (2) ity qrogen
(15 Rewm @ 4) &t a Bg af

. t can be sold in the domestic or foreign
" ’ juces the goods tha
56. Which economy proc
market for profit motive ?

(1) Capitalist economy (2) Socialist economy
(3) Mixed economy (4) None of the above

D odergen W argelt F IAEA FEA R R AW B Bew & ary o
fRsh s § =1 o1 g 8 7

(1) e sredferaen (2) TETAT FYfegER
(3) Py srfeggen 4) 79 & 3 Té

57. The economy which produces only those consumer goods, which are demanded by
the buyers and which can be sold in domestic or foreign markets profitably is known
as:
(1) Market economy (2) Capital economy
(3) Both (1) and (2) (4) None of the above
TE ST A AW I ITHH AN F IQEA A ¥ PR s
mmﬁm%mmmm%ﬁmﬂmmé%mm
THEAT B, FEATH B
(1) S=IX srefegaen (2) Goft Sreiegaear
(3) (1) 3t (2) A 4) 3T & | a T

58.

Which of the following is the outcome of the
(1) Outsourc'mg
(3) Liberalisation

globalisation of a country’s economy ?
(2) Privatisation

(4) None of the above
%Wqﬁmmm%awwﬂqﬁwmﬁwﬁﬁm-wﬁ?

(2) fHsfieTor

(4) 390 & @ wg Td
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The economic reforms under the New Economic Policy of 1991 were made so
3 o | TR .

(1) the government would drive the economy towards development and growth
(2) market forces would drive the economy towards development and growth
(3) the public would drive the economy towards development and growth

(4) None of the above

1991 & 72 onfdfr Y B dea onfdfer gur gafew fru Mo aifd
(1) TRFR SeieEe B fAmm o g+l &l T @ s

(2) SR 1 b Sreierae & R ok IR @ ST o S

(3) ST Srdemaen & e ok I=fy @ o & S
(4) ST 7 F P AL

Many products from small-scale industries were

............ after the industrial sector
was deregulated in 1991.

(1) De-reserved (2) Reserved

(3) Both (1) and (2) are correct (4) Both (1) and (2) are incorrect

1991 & oNelfrs &= @ Rl fru o & g g I B Hd I
.......... S

(1) ST (2) STfRr

3) (1) X (2) AT wE & @) (1) 3R (2) AF! T B

Sellers selling homogeneous products in the perfect competition market indicate ?
(1) A huge amount of loss for all the sellers.

(2) Buyers will not buy the products.

(3) Sellers will becorﬁe price makers.

(4) Sellers cannot influence the prices of the products.
@Wwﬁmmﬁmmwmﬁ%?

(1) G et & g @l wE=n J§ g |

(2) EiER IR T8 gaen |

(3) Rbar gea Fmfen = Sa |

(4) Ferban Scarsl @ HAT B FATAT TE BT HR |

P.T.O.
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following options creates a barrier to entry for new firms ?
at protects the existing firms in the market from the new firms

Which of the
(1) Arule of law th
(2 Increased competition in the

(3) No firm can create a barrier to entry.
(4) Huge losses made by the existing firms in the market deter new firms from

nteriny.
ﬁwtf‘%im hﬂ & - Reweg a8 ®At & wder ¥ are e w5 B 7
(1) SFE & O st s A dsgEr et @y ad et A g B
2) SR § "gdd gfrequt 4 wA1 # qA HA A dach B
(3)a§1§\ﬁmﬁﬁwﬂmﬂﬂwmﬁu
(4)mﬂmmﬂmmwmwa§wﬂﬁswﬁ e B

Read the following statements given below and choose the correct alternative :

market deters new firms from entering,

Statement 1: Perfect competition hypothetical situation.
Statement 2 : Under perfect competition, the government decides the prices of all the

products and services.
(1) 1isincorrect and 2 is correct

(2) 1is correct and 2 is incorrect
(3) Both 1 and 2 are correct
(4) Both 1 and 2 are incorrect

= Ru wu syt @ gfew ol @@t ey & wgq Fif

o= 1: goi aRAFT weafrs Rl B
mz:ﬁqﬁﬁﬁmﬁwmﬁmﬁﬁ%&ﬁﬁ@mﬁmmh
1) 1 T B R 2 | ?

2158 8 32 a8

(3) At 1 3R 2 we §

(4) At 1 MR 2 TIoa &

Sellers in the perfect competition are price takers because :

(1) Sellers get a lot of pressure from other competing firms to accept the prevailing
equilibrium price in the market.

(2) Buyers influence the prices of products.
(3) Government forces the sellers to sell a product at a particular price.

(4) None of the above

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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@mﬁmﬁwmmmﬁ@%%ﬁﬁs:
(I)Wﬁm%ad@?@ﬁ@mm%ﬁmmﬁﬁm

sfreasdt ot & wEa o asrE e €|
(2)@'&3!‘{@@@%6&::&41%65‘{%%\

(3)Wmﬁﬁmﬁa&qﬁwmﬁ%mwm%l
(4) ITAUH | | Hg AL

65. How is the demand curve ina perfectly competitive market ?
(1) The demand curve cannot be calculated.

(2) The demand curveis a vertical line at the market price.

(3) The demand curve is flat.

(4) The demand curveis a horizontal line at the market price.
oot SR T & i A e de ¥ ?

(1) HAT ash N TOHT TE B AT Fehal |

(2) HiT @ SER g X UF e @ E

(3) HIT ah TS 8 |

(4) ST G TR ged U O AT 3@ E

66. The market type which is known as perfect competition is ............. .

(1) Highly competitive and companies find it challenging to earn economic profits in
the long run

(2) Almost free from competition and companies earn large profits

(3) Marked by firms continuously trying to upgrade their products so that buyers
prefer their products to that of their competitors'

(4) Dominated by fierce advertising campaigns
Wmﬁ%wqﬁ@ﬁm%wﬁmm%la@% .......... |
(1)amﬁmqﬁwzﬁaﬁr$qﬁﬁf@ra%wﬁwf§$maﬁam
gAdfIget T @
(z)mwawgwmmmwm%

(3)$ﬁmmﬁemmﬁmmwmmﬁ%m%ﬁa

:}mm%mmmmﬁﬁmqﬁwﬁtﬁ%mﬁﬁm

(4)qaafaamaﬁmﬁfaﬁr&|aaﬁ1

PG (Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D) P.T.O
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67.

69.

D

In a perfectly competitive market, the type of decision a firm has to make is different
in the short run than in the long run. Which of the following is an example of a
perfectly competitive firm's short-run decision ?

(1) What price to charge buyers for the product

(2) Whether or not to enter or exit an industry

(3) The profit-maximizing level of output

(4) How much to spend on advertising and sales promotion

e ol gfermdl s #, oh wH B B g B Folm on T
Sdepre @ TUET SRTH H = B B frafatad # @ @A o g
gt o3 & ST fHota @1 Igewer ' 7

(1) I@E & T @AERT & /7 HE ager-il 8

(2) fE IENT # 9aAST HAT & AT A

(3) IEA & ATH-HATYHTHIR T X

(4) fasmoa oI} e w= 9X fohaeT @@= YA '

Perfectly competitive firms are price takers because :
(1) each firmis very large.

(2) there are no good substitutes for their goods.

(3) many other firms produce identical products.
(4) their demand curves are downward sloping.

gof gftEr & #HHa T8 HA aren B ¥ it
(1) 5@ ®H g SS1 Bl 2|

(2) I9H T B B W [Feheq 787 2|

(3) FT T HH THE I Bl Icqred HAT & |
(4) I HIT g6 A H IR P gL |

Business owners in the perfect competition have to make different types of decisions,
both short and long term. Which of the following options are short term decisions ?

(1) Output levels that have a direct impact on profits.
(2) How much to spend on advertising.

(3) To enter the marketplace or take an exit.

(4) The price of the goods and services.

f aferfer & s At B B ger & ag aun e Qe el
N Tsd &1 Reedt § § Pe-T1 sTeaseE B § 7

(1) A¥eYe &Y ehr @y g3 ey g9 g<adr 8 |
(2) REmas gx fFaT @" =y

(3) SR & 93T HIAT TT 8T FepaA=T |

(4) I X Jaredt #Hr dHT |

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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The elasticity of demand for the product in a single firm in the perfect competition is :
(1) Zero because all the sellers are selling an identical product.

70.

(2) Zero because all the sellers are selling heterogeneous products.
(3) Infinite because all the sellers are selling identical products.

(4) We cannot calculate the elasticity of demand for a product in perfect
competition.

ot SR § Ree wh wH W I @ AT @ ae e R
(1) g FiH Tt fashar o g+ Iaag 39 W@ B

(2) T Hits T fshar vy S 9 @ ¥

(3) A Hgifs e fasham w9 I A= @ T

(4) 89 FE IR H AW @ A g g AT T8 H G

71. Which of the following is a method to measure the National Income ?

(1) Expenditure method (2) Income method

(4) All of the above
Fr=fdfEad & @ fF-9 o omg @ 3o & Ry R 7
(1) =3 fafy (2) ot fafy

(3) I fafr (4) I9A<h i

(3) Product method

72. The difference between the National Income and the Net National Product at market
price is knownas ............... .

(1) National debt transfer

(2) Current transfers from the rest of the world
(3) Net indirect taxes
(4) All of the above

TR g R TS AE AR S TG IAR B qG B S B L B
wq § ST AT B

(1) TS HOT ST

(2) A fagg q FAAA TIHAT<IROT
(3) TH ITIHTE &Y

(4) SYAH Al

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D) P.T. O.
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73.

74.

75.

76.

Dy

. tional Product ? :
Which of the following is not needed while considering the Gross Nati T
(1) The net investment made by foreigners within a

(2) The total of private investments made within a give ithin a given period
(8) The total purchase of goods made by the governmetl WL P PR o' eriog
(4) The total per capita income of the citizens of a country Wi e

Wn@quwmmwﬁﬁi?ﬁm;' R =8,
3 7

(1) w R ot @ sfiec R g R @ gE P

(2) © FiRE ol & e Rey g g Fefl FaEe
(3)@Wm%aﬂmwmaﬁﬂéaﬁaﬁﬁ§a@i'a

(@) ©F PiREd oty @ e Rl 2 & ARG B ga S AlH A

given period
n period

Which of the following is not a national concept ?

(1) GDPxc (2) NNPwp (3) GNPrc (4) NNPrc
fr=fafaa & @ H9-@ T sguRen 8@ e ?

(1) GDPzc (2) NNPwmp (3) GNPgc (4) NNPkc
The difference between NNPMp and NNPxgc is :

(1) Depreciation (2) NFIA

(3) Net Indirect Tax - (4) Allof the above

NNPyp 30X NNPrc & &g ofax B -

(1) ggg ™ (2) TATHIATST (NFIA)

3) Y= T FHT (4) ISUUH g+

If Net Factor Income Abroad is 0, then ........... :
(1) Domestic income will be more than national income

(2) Domestic income will be equal to national income

(3) Domestic income will be less than national income
(4) None of the above

MR X e dRb O, & |
(1) oY o= TS o § St Efy

(2) NI I T o9 § &7 7Y

(3) MY AT T HF /A FH DA

(4) STH F q HE T

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-x)/(D)



D
7. I Net Indirect Taxes are positive, then ............. .

(1) Factor cost will be less than market price

(2) Factor cost will be more than market price

(3) Factor cost is equal to market price

(4) None of the above

aft g FTEE HT TAHED P, A osorersns
(1) HH AP G o 8 F 2

(2) FRF @ aeR ged @ Jfew A

(3) FEH A AT Ged B AT B

(4) 39 F § FE B

78. Which of the following is included while calculatin
added method ?

(1) Intermediate goods

(3) Second hand goods

affq gy & AreEw ¥ aEE SFE & T

2Ry enfae fpar Sar 2 7
(2) F-3dr & oo A

(1) et gy

(3) g1 A (4)3crvf‘r?ﬁﬁ€#aﬁlé=rﬁ
79. Which of the following is correct ?

(1) GDPwp = Value of Output - Intermediate Consumption

(2) NDPgc = Value of Output — Intermediate Consumption

(3) GDPgc = Sales + change in stock

(4) NDPyp = Sales + change in stock

P § & P g e 7

(1) GDPw=‘3ﬂ32§€EBT§@—H€ZIH?ﬁ@qH

) NDPsc = 332 &1 ged — Hedadt @ud

(3) GDPec = fashl + veforan & aftad

(4) NDPyp = fashl + Zfaan & aftads

g national income through value

(2) Services for self-consumption

(4) None of the above
73 gaa fA=fafaa & 3

80. Which of the following is not a component of operating surplus ?
(2) Intermediate consumption

(1) Profit

(3) Rent and royalty (4) Interest
Erfafaa & 8 #F-ar afvEeE sfadw & ges T8 87
(1) &= (2) Aegadt ITATT
(3) fpuar AT @fa (4) =aTA

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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81. When the data is collected by invigil

(1) Secondary

(3) Secondary and Primary
oo go w8 friers ara er umd A

¢ q(‘“l”(’d chsnegreseen s
ator from the place of origin 15 &

(2) Primary
(4) All of the above

HET AT
FH oueeeee

g 7
(1) et (2) sireafeh
(3) AreatE oMY wrafHes (4) Fuder gl

82. The primary data is collected by using the method :
(1) Questionnaire and Schedule method
(2) Observation and Interview method
(3) None of the above
(4) All of the above
s 3 fpe fafyr &1 SudnT & aas fear aar & 7
(1) SeTEe AR oyt fafy
(2) SFEHT AR ARIEHR fafy
(3) SUIh H A HE AL

(4) SUH gAY
83. What will be the first step for data presentation ?
(1) Categorisation (2) Tabulation
(3) Both (1) and (2) (4) None of these
ST ISRy & foT uswr =ROT @ Ry ?
(1) FEfteRTor (2) ErRefEsTor
3) (1) ¥ @) A= @) FH | P
84. Which of the following is not used for data-collection method ?
(1) Participant observation (2) Unstructured interviewing

(3) Research questions (4) Postal survey questionnaires
ﬁmmaam-m%a-wm%mm 7 e ey & 2
(1) i st (2) STEfaa wnenerR

(3) STIHEY ws+ (@) =% T gl
PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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89.

90.
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Which of the following is not a type of purposive sampling ?

(1) Probability sampling (2) Deviant case sampling
(3) Theoretical sampling (4) Snowball sampling

ﬁw%%aﬁaa%ﬁ-wa%sagﬁww'w TET R ?
(1) sfoehem =gmeptor

(2) frafea g AR
(3) Aty egmmeRoT (4) NS FATEROT
Histogram can be drawn with the help of :
(1) Discrete frequency distribution (2) Continuous frequency distribution
(3) Cumulative frequency distribution (4) Relative frequency distribution

(2) AR smghy o
(4) e smgfy fawor

The cumulative frequency distribution graph is called :
(1) Histogram

(1) STaaq gy faewor
(3) H= stmafRy faawor

(2) Frequency polygon
(3) Pictogram (4) Ogive
T SRAREr de 7% wmeaar o
(1) STmaafas (2) sgT sgeT
3) e (4) o

A circle in which sectors represents various quantities is called :
(1) Histogram (2) Pie chart

(3) Frequency Polygon (4) Component bar chart

@qﬁmﬁ%mﬁﬁﬁwﬁwﬁﬁ@am%m%:
(1) sTadfes

(2) 9§ =
(3) STgRT sgys (4) FO=T IR =}E
Data represented through a histogram can help in finding graphically the :
(1) Mean (2) Mode

(3) Median (4) All of the above
am%a%mmﬁasﬁmw%amﬁsasw@t

Pie-diagram is used for :
(1) Comparin
(2) Represen
(3) Represen
(4) (2)or (3)

g different components and their relation to the total
ting qualitative data in a circle

ting quantitative data in a circle
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qré-=rars &1 wArT A oen

(1) Rftr= geat & gaar o @t & |y 3w d@99
() g9 & Tenerd 2w &1 wfafafaE &
(3) ga & "= 2 & ufafafaE s

@ @ 3 Q)

91. Which of the following is a characteristic of a mean ?
(1) The sum of deviations from the mean is zero
(2) It minimises the sum of squared deviations
(3) Itis affected by extreme scores
(4) All of the above
Fr=foRea & @ #9-d greg # RAKwar 8 7
(1) 913 & fagas & 3Jr7 g9 8
() g€ gFaT faae & T H FH T 8
(3) 98 I @Y § gwifaa e 8

(4) ITAUH GH
92. What is the mean of the following numbers : 23, 45, 87, 40, 50 ?
(1) 49 (2) .34 (3) 56 (4) None of the above
fr=ifeRaa d&arait &1 Areg Fa7 ® - 23, 45,87,40,50 7
(1) 49 (2) 34 (3) 56 (4) IRFT 7 F FE T8

Which one of the following statements best describes the mode measure ?

93.
(1) It gives us the most common score in a data set, which will change if you
rearrange the scores in any order.
(2) It gives us the most common score in a data set, which will not change if you
rearrange the scores in any order.
(3) Itis always greater than or equal to the mean of a data set.
(4) None of the above
fr=fafRag & § HI9-91 HUF gga® A9 HT 9Fd 37287 gofF FHar & 7
(1) 95 &% 27 ¢ F 998 9 @R AT 2, o fREr o @y ¥ @R @
gafRed &3 9 & S |
) T8 & 2w ¢ F G9Q Hg @R a1 2, o) fedr st ww d @ B
ggRed i 9 el S& |
(3) & BA 2eT QT H A § AU AT IS SER Bl B
(4) I9AH H § H1g Tl
0. diiciinear is most frequently observed data value.

(1) Arithmetic Mean (2) Mode
(3) Median (4) All of the above

PG(Hons.)-EE-June, 2023/(Economics (Hons.) Five Year)(SET-X)/(D)
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.......... as8 s " @ o qren ey w B

(1) dfmnPrfiy [y (2) SEeH

(3) Hifeae

96. Il the values of two variables move in the same direction, the
(1) The correlation is said to be non-linear

(4) U W

...............

(2) The correlation is said to be linear
(3) The correlation is said to be negative
(4) The correlation is said to be positive

g @ "
(1) wedsy
PARSISSER
(3) "edsy

(4) TedET &

96- ................

over time.

(1) Dispersion
(3) Index numbers

-----------

& 7w @ Rean A ey ¥, o
AW wer s B
 Was wer sar ¥

B AHAHD HET AT B
HAESH HET Sy B

helps us find out percentage change in the values of different variables

(2) Correlation
(4) Price index

B @99 3w fftr 93t & gedt & wfea aRads @ ger e

7 [EE I B

(1) Harg
(3) ga&ih

97.

value in the

(1) Price relative

(3) Linear index

............

(2) gBHEy

[SEC2 1Y (4) ITa gEHiE

is the percentage ratio of the value of a variable in the current year to its

base year.

(2) Simple index
(4) Complex index
maﬁﬁwﬁv‘g@%maﬁqﬂaﬁﬁ@m%ww

sferer STaTa B
(1) g59 |me (2) QTR GEhiH
(3) e gaHiE (4) sIfeq o

Which of the following is/are the featur'e(s) of index numbers ?

(1) Index number measured relative changes
(2) Index number is a quantitative expression

(3) Index number show changes in terms of averages
(4) All of the above
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8 Frfafaa & & SV-a1e] gaeie deaedt a5 g /8 7
(1) gahish TE&AT HIY ey afledH

(2) goehies ST HEAE ARt @

(3) o & NEd B wad § uRgdws e ®

(4) STA<H G

99. Read the following statements given below and choose the correct a]ternativ? .
Statement 1: The consumer price index helps in the formulation of price policy.
Statement 2 : The consumer price index does not measure the real value.

(1) Both are correct

(2) Both are incorrect

(3) Statement 1 is correct and statement 2 is incorrect
(4) Statement 1 is incorrect and statement 2 is correct

Hra Ru @ FHEt # ofew ok @@ Reew @ @me #Hifg
FIT 1: I oI Fahish Jod AN & Frafor F meg Hyar 2
FYA 2: ITHRH qed FAbKh ARAh Ged 1 TE HIT B

(1) [ T8 &

2) I T ¥

(3) HUT (1) T & M ¥ (2) T

(4) FHIT (1) TG B IR FHYT (2) TS 2

100. Which of the following is/are the method(s) of constructing index numbers ?
(1) Simple aggregate method

(2) Simple average of price relative method

(3) Weighted average of price relative method and weighted aggregate method
(4) All of the above

ﬁwﬁiitﬁﬁ@a?m-w@ﬁagﬁ%wﬁmaﬂﬁ%%q%/%?
(1) 99 gy=rg fafy
(2) T Ty R/ &1 axa g

(3)@@&%%%@%@%%
(4) IIUH g
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